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REPORT DETAILS

1. Facility Fmployees Attending Exit:

Coggin, Manager, Training and Emergency Preparedness
Crosby, Operations Training Supervisor (Classroom)
Fraser, Southern Nuclear Company, SAER Site Supervisor
Grantham, Supervisor, Operations Training

. King, Engineering Supervisor

. Metzler, NSAC Manageyx (Acting)

. Moran, Instructor

. Read, Assistan. General Manager - Operations

. Russell, Southern Nuclear Company, Nuclear Specialist
Sumner, Plant Manager

P. Wells, Operations Manager (Acting)
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2. Examiners:

*J. Moorman, Senior Examiner, Region II

J. Bartley, License Examiner, Region II

B. Holbrook, License Examiner, Region II

L. Lawyer, Chief, Operator Licensing Section 1
M. Daniels, License Examiner, Sonalysts, Inc.

*Chief Examiner
- {F Others attending the exit meeting
L. Wert, Senior Resident Inspector

4, Discussion

a. NRC Information Notice 88-86, supplement 1 identified a
previously unidentified potential failure mode of DC
distribution systems. In this failure mode, DC grounds
can cause equipment to fail in the energized state
instead of the deenergized state necessary to satisfy
protection system performance. Plant Hatch's Diesel
Generator DC system is nearly the same as that
disc. ’%ed in the Information Notice supplement. It
appears that the licensee has not evaluated the failure
modes for the Diesel Generator DC bus discussed in the
Information Notice supplement. This will be identified
as Inspector Follcaup Item 50-321/92-300-01.

b. During simulator scenario validation, a scenario
involving the loss of 125/250 vdc bus 2A was run. The
simulator was set up in a startup/shutdown
configuration with the station service buses powered
from offsite power. When the 2A 125/250 vdc bus is
lost, tripping power for both Reactor Feed Pump
Turbines (RFPT) ig also lost and the feed pumps cannot
be tripped using the control board switches. The local
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unsafe operators. The training department was
encouraged to continue their test material enhancement
program in the manner that it was being implemented,

€. During the exam preparation week, an inspection was
conducted relating to the licensees' untimely report
concerning the medical condition of a licensed
operator. The results of this inspection are contained
in Inspection Report 50-321 and 50-366/92-06.

: 413 Procedures 34S0-T48-002-28, 31EO-EOP-103-28 and 3480-
N21-007-28 were noted in Examination Report 50-321/0L-
91-01 as containing errors. New revigicns of these
procedures were reviewed and the items noted had been
addressed.

g. The material condition of the simulator indicated that
routine maintenance is in need of improvement, possibly
due to being assigned a low priority.

Resolution of Wricten Examination Comments
a. SRO Question 2 (RO Question 3)

Facility comment accepted. The anawer key has been
changed.

D. SRO Question 8% (RO Question 84)

Facility comment accepted, The answer key has been
changed.

Exit Interview

At the conclusion of the site wvigit, the examiners met with
representatives of the plant staff to discuss the results of
the examinations. The following items, as well as& those
items in paragraph 4 above were discussed.

The written examination and "rlator scenarios were
reviewed by the Region II op . .tor licenging team and
members of the Hatch training staff February 10-14 at the
Hatch site. This review helped improve the validity of the
exams and helped insure smooth exam administration.

The Plant Hatch training department lesson plans for the
Emergency Operating Procedures were noted as being very well
written and informative.

There were some problems noted with the reference material
submitted for preparation of the exam. Some of the lesson
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plans were of poor copy quality. There were no leg  .n plans
or Job Performance Measures (JPMs) submitted relating to
radiation monitors. Some of the JPMs were not revised to
reflect the latest revision of the procedur: being
implemented in the JPM.

The cleanliness and appearance of the plant was noted as
being very good.

The control room operators on duty while the exams were in
progress were thanked for allowing the examiners and
candidates ready access to the control room and fostering an
atmosphere conducive to administering exams. The Security
and Health Physics staff was thanked for their assistance.

The training staff was thanked for their diligent effort
during the exam review and their assistance in operating the
simule tor during the simulator exams and during the
adminiscration of Job Performance Measures.

There is no proprietary material contained in this report.
No dissenting comments were received from the licensee,

Item Number Description
321/92-300-01 Diesel Generator DC bus not analyzed per
NRC Information Notice 88-86, Supplement 1









REACTOR OPERATOR

ANSWER BSHEET

Multiple Choice (Circle or X your choice)

If you change your answer, write your selection in the blank.

030  MATCHING MULTIPLE CHOICE
. 046 a b ¢ 4 __
a . 047  MATCHING
MULTIPLE CHOICE a
031 a b e 4 b
032 a b ¢ a4 ¢
0o a b e a4 ___ d
034 a b ¢ 4 ___ MULTIPLE CHOICE
038 & PP ¢ 4 ___ 048 a b ¢ a ___
03¢ & > ¢ a4 049 a b ¢ a ___
737 & b ¢ 4 ___ 050 a b e d __
038 a b ¢ d o 051 a b e @ ___
03 a b ¢ a4 ___ 062 a b ¢ a ___
040 a b ¢ 4 __ 03 a b ¢ d ___
04 a b ¢ a4 ___ 04 a b ¢ a ___
042 a b e 4 ___ 085  MATCHING
043 a b ¢ 4 b L
04 a b ¢ a4 _ b
045  MATCHING e
e d __
- L MJILTIPLE CHOICE
(-] 0% a b ¢ 4

a

057 a b c d
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REACTOR OPERATOR

ANESEWER BSHEET

Multiple Choice (Circle or X your choice)

If you change your answer, write your selection in the blank.

058 a b ¢ d ___ 61 a b ¢ d __
059 a b ¢ d T 082 A b [ a _
060 a b c d R 083 a b ¢ d -
061 a b ¢ d n 084 8Bl DI ETED
062 a b ¢ 4 ___ e a » ¢ 4 ___
063 a b ¢ a4 ___ 086 a b ¢ 4 ___
064 a b ¢ 4 __ 087 a b o 4 ___
068 a b ¢ a4 ___ o8¢ a b ¢ &
066 a b ¢ 4 ___ 069 a b ¢ a4 ___
067 a b ¢ 4 90 a b ¢ 4
068 A& b ¢ a4 _ 091 a b ¢ a4 _
06 a b ¢ a4 ___ 092 a b ¢ 4 _
07¢ a b ¢ 4 ___ 093 a b ¢ d4 _
070, a b e 4 ___

072 a b ¢ 4

073 a b ¢ 4 ___

074 a b ¢ a4 ___

078 & b o 4@ ___

076 a b ¢ S

077 a b ¢ 4 ___

07¢ a b ¢ 4 ___

079 a b e 4 ___

080 a b ¢ d

(#umunntnns END OF EXAMINATION *dnananann)

fo b
aai1/9s.
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NRC RULES AND GUIDELINES FOR LICENSE EXAMINATIONS

During the administration of this examination the following rules apply:

1.

3.

7.

B.

10.

11.

12.

13.

Cheating on the examination means an automatic denial of your application
and could result in more severe penalties.

After the examination has been completed, you must sign the statement on
the cover sheet indj~“*ing that the work is ycur own and you have not
received or given a : . ance in completing the examination. This must be
done after you comr '« the examination.

Restroor trips are Lo ke .imited and only one appiicant at a time may
leave., You must avoid all contacts with anyone outside the examination
rvoin to aveid even the appearance or possibility of cheating.

Use black ink or dark pencil ONLY te facil.tate legible reproductions.

Print your name in the blank provided in the upper right-hand corner of
the examination cover sheet and each answer sheet.

Mark your answers on the answer sheet provided. USE ONLY THE PAPER PROVIDED
AND DO NOT WRITE ON THE BACK SID% OF THE PAGE.

Before you turn in your examination, conrecutively number each answer sheet ,

1nc1udin? any sdditional pages inserted when writing your answers on the
examination question page.

Use abbreviations only if they are commonly used in facility literature.

Avoid uning symbols such as < or > signs to avoid a simple transposition
error resulting in an incorrect answer., Write it out.

The point value for each question is indicated in parentheses after the
question,

Show all calculations, methods, or assumptions used to obtain an answer to
any short answer questions,

Partial credit may be given except on multiple choice questions. Therefore,
ANSWER ALL PARTS OF THE QUESTION AND DO NOT LEAVE ANY ANSWER BLANK,

Proportional grading will be ap~iied. Any additional wrong information
that is pruvided may count against you, For example, if a question is
werth one point and asks for four responses, each of which is worth 0.2%
peints, and you give five responses, each of your responses will be worth
0,20 points., 1If one of your five responses is incorrect, 0.20 will be
deducted and your total credit for that question will be 0.80 instead of
1.00 eaven though you got the four correct answers.

If the intent of a question is unclear, ask qguestions of the examiner only.




14,

15,

16,

17.
18.

Page 6

When turning in your examination, assemble the completed examination with
examination questions, examinavion aids and answer sheets. In addition,
turn in all scrap paper.

Ensure all information you wish to have evaluated as part of your answer is
on your answer sheet. Scrap paper will be disposed of immediately following
the examination.

To pass the examination, you must achieve a grade of 80% or greater.

There is a time limit of four (4) hours for completion of the examination,
When you are done and have turned in your examination, leave the examination

area (EXAMINER WILL DEFINE THE AREA). 1f you are found in this area while
the examination is still in progress, y>ur license may be denied or revoked.
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QUESTION: 001 (1.00)

A loss of both recirculation pumps has occurred with the plant operating
at 75% power and 100% load line.
Which ONE of the foliowing is the IMMEDIATE operator action regvired?

a.
b.
c.

d.

Place the mode switch in shutdown,
Drive contrel rods until power is below the 80% rod line.
Commence a normal reactor shutdown.

Verify operstion outside the instability region and restart at
least one pump.

QUESTION: 002 (1.00)

Which ONE of the feollowing explains the contrcl of systems frca the
remote shutdown panel(s)?

The interlock preventing simultaneous opening of the RHR
suction valves for shutdown cooling, F006 and from the torus F004
are bypassed at the Remote Shutdown Panel.

The low low set function is not operakle when SRV control has been
transferred to the Remote Shutdown Pane..

Containment isolation functions are operable for all systems
operated.

The Unit 2 RCIC trip throttle valve is not operable when control
has been transferred to the Remote Shutdown Panel.



REACTOR OPERATOR

Bl

"WUSETION: 003 (1.00) DEIETED 2/27/72.

which oﬂt\ox the following defines the Heat Capacity Temperature Limit for
&n RPV doproinu:lzatiow?

The htghont Buppression Pool temperature which will not result in
exceeding the Suppression Pool design temperature.

The highoot Suppregsion Pool. temperature which will not re-ult in
exceeding the Primary Containment dooiqn temperature,

The highest Primary Containment tompcratutg which will not result
in exceeding the Suppression Pool design tolrcrlturo.

The highest Primary Containment temperature which will not result
in exceeding the Primary Containment design temperature.

S
-

QUESTION: 004 (1.00)

For steam cooling the operator is directed to open __ (1) safety relief
valve(s) when reactor level decreases to (2) “inches.

1, =162

7, =162

10 -207

7, =207
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QUESTION: 005 (1.00)
Hatch Unit 2 is operating at 95% power when a jet pump riser fails,

Which ONE of the following is the PRIMARY REASON that a plant shutdown is
required by Technical Specifications and procedures?

a. Invalid APRM Flow Biased SCRAM setpoints due to the change in
flow through a failed jet pump

b. Increased blowdown area during a Loss of Coolant Accident
(LOCA)

¢. Unbalanced neutron flux across the core due to flow variations

d. Physical core damage from a piece of a damaged jet pump

QUESTION: 006 (1.00)

Which ONE of the fellowing trip channel conditions (A - B) from the Reactor
Protection System shown in the diagram below will result in a HALF
“CRAM. (Assume a "one-out-of-two taken twice" logic.

TRIP SYSTEM TRIP SYSTEM
—  —— '
Al A2 Bl B2
TRIP CHANNELS TRIP CHANNELE

a. Al and A2 tripped
b. Al and B2 tripped
€. Al and Bl tripped
d. A2 and Bl tripped
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QUESTION: 007 (1.00)
UNIT 2 has just experienced an initiation of the Automatic

Depressurization System (ADS), Plant conditions are as foliows:
Dryweil pressure: 3.2 psig
Reactor water level: =147 inches
All RHR pumps: running
13 minute timer: timed out
120 second timer: timed out
7 ADS SRVs: open
Main Steam pressure: 150 psig and lowering
Pork fteme So%y ot} Bows™y

Which ONE of the following will cause the ADS SRVs to close?
a. Reactor water level increases to -20 inches.
b. Reactor pressure decreases to 2% psiqg.
¢. Resetting the High Drywell Pressure Bypass Timer
d. Securing 4 RHR or both Core Spray pumps.
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REACTOR OPERATOR

QUESTION: 008 (2.00)

Page 11

For the each component in Column A, SELECT its functional description in

Column B,
(Items in Column B may be used once,

more than once, or not at all. Only

one answer may occupy a space in Column A).
(4 answers required 0,50 each)

COLUMN A
(Components)

a. Off Gas Preheater - i

b, Off Gas Stack Iseolation

o ——

Valve 2.
¢ Off Cas Catalytic 3.
Recombiner

d. Loop Seal Drain Valve 4,

COLUMN B

(Functional Description)

R G A -

Provide~ ' ¢ for Xenon and Krypton
isotope. t decay,

Is an electric boiler on Unit 2

Reduces the levels of Hydrogen and
oxygen in the off-gas flow

Will shut on MI-HI~Hl radiation
levels from the Post Treatment
Radiation Monitor

Will shut on High Hydrogen levels
in the cff-gas flow

Uses 250 psig steam on Unit 2 to
heat the oft-gas flow

Renmoves lodine isotopes from the
off-gas flow.

e e P — PR— - - —. e
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QUESTION: 009 (2.00)

For the Reactor Pressure Vessel (RPV) Safety Limits and Design features
listed in Column A, SELECT the appropriate values from Column B. (All
pressures are steam dome pressures)
(Items in column B may be used once, more than once or not at all. Only
one answer may occupy a space in Column A).

(4 answers required at 0.50 each)

COLUMN A COLUMN B
(Safety Limits/Design Features) (Values)
a, RPV heatup and cooldown 1. 1375 psig

limit (per hour)
2., 1325 psig
__b. RPV high pressure scram

3. 1250 psig
e ©, RPV Design Operating Pressure 4. 1120 psig
e d. RPV Pressure Safety Limit 5. 1100 psig
6. 1054 psig
7. 100 degrees F,.
8. 90 degrees F.

9., 70 degrees F.
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QUESTION: 010 (1.00)

Unit 2 is cfcratinq at 72% power and 58% flow, when the operator
observes a loss of feedwater heating.

Which ONE of the following describes the operator action to be taken as a
result of the loss of feedwater heating?
(Attachment from 34C0-OP8~005~28 is provided).

a. Reduce power to below the minimal load line by insertion of control
rods.

b. Reduce power by reducing recirculation flow to 45% and insertinyg
control rods as necessary to get below the 80% lcad line.

€. Reduce power to 20% without roducin? core flow beluw 45% by
reducing recirculation flow or driving control rods.

d. Reduce power by 14.4% by reducing recirculation flow, without
reducing core flow below 45%

QUESTION: 011 (1.00"

Which ONE of the following describes the automatic functions or procedural
requiremerts for an unrecoverable loss of RBCCW due to a leak in the system
while operating in mode 17

a. Entry into the abnormal procedure 1€ NOT required because the
actions are covered in the EOPs.

b. The reactor should be scrammed within 2-3 minutes because the RBCCW
cannot be restored.

¢, Entry into EOP flow charte IS required to implement the recovery of
the Loss of RBCCW.

d. If 1 scram is required then the Abnormal Procedure for Loss of
RB. W should be exited and the EOP flowcharts entered.
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QUESTION: 012

REACTOR OPERATOR

(2.00)

For each

R

Page 14

ower source in Column A, SELECT the immediate action listed in

Column B that is required to be taken if that power source is lost.

(Items in Column B may be used once, more than once, or not at all.

one answer may occupy a space in Column A),
(4 answers required at 0.50 each)

Column I
(Power Source Loss)

-

a. 1257250 V DC Switchgear 2A
2R22~5016

b. 125/250 V DC Switchgear 2B

2R22-5017
@426V DO -Besential DEETED
T cabinet 2A- B 5/31/94
d. 24/48V DC Cabinet 2B,
2R25-5016

Only

Column 11
(Immediate Action)

-

Transfer 4160 V buses 2A
and 2B to Startup Supply.

Manually trip Reactor
Recir: Pump B.

Secure ri.dwaste discharge.
Manually open Main
Generator output

breakers.

Enter lLoss of Instrument Bus
AB~OPS.

Swap CRD Flow Control Valves

None
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QUESTION: 013 (1.00)

Under whicn ONE of the following sets of conditions may the OUTBOARD ain
:t:a: !lo%ntion Valve Leakage Control System (MSIV-LCS) be manually
nitiated

A. Reactor pressure ic less than 35 psig, all of the MSIVs are
slosed and Main Steam L' + pressure between the Outboard MSIVs
and the Main Turbine Stop Valves is less than 35 psig.

b. Reactor pressure has been less than 35 psig for a minimum of 10
minutes, all of the MS8IVs are closed and Main Steam Line
ressure between the Inboard MSIVs and the Outboard MSIVs is
ess than 15 psig.

€. At least 10 minute: have elapsed since the Loss of Coolant
Accident (LOCA), the Outboard MSIVs are closed and pressure
betweelr the Outboard MSIVs and the Main Turbine Stop Valves
and Bypass Valven is less than 3% psig.

d. At least 10 minutes have elapsed since the Loss of Coolant
Accident (LOCA), all of the MSIVs are closed and pressure
between the Inbuard MSIVe and Outboard MSIVs has bled down
to 0 psig.

QUESTION: 014 (1.00)

Which ONE of the folluwing is the most significant contributor

to reducing power when water level is lowered during a failure to
scram event.

a. Reduces evaporative cooling thus causing fuel _..aperature to
increase,

b, Lowering level reduces the pressure in the core by reducing the
head of water above the core.

¢, lowering level reduces the differential pressure between the annulus
and the core thus increasing the veoid fraction,

d. Lowering level reduces power by increasing the subcooling of the
water enteriny the core.

e — s A
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QUESTION: 015 (1.00)

Caution 2 of the EOPs states that 2B21~LI~R604A/B and 2B21~-LR-~R623IA/B
CANNOT be used to determine RPV water level during repid RPV
depressurization below 500 psiy.

Which ONE of the following is the reason for this caution?

a. At low reactor pressures the reference leg would flash due to the
rapid pressure reduction.

b. Variable leg density will decrease due to the rapid pressure
reduction
causing invalid readings.

¢. At low indicated levels reference leg density causes on scale
indications with level below the instruments monitoring range.

d. At low drywell temperatures the reference leg will cause
erronecusly high indicated levels.

QUESTION: 016 (1.00)

Under which ONE of the foll -ing conditionu would the Emergency Operating
Procedure require Emergency .epressurization of the reactor?

a. Any release in excess of 1000 mr/hr in the Primary Containment
and the Primary Containment cannot be isclated.

b, Offsite release rate is 1200 mr/hr and a main steam line break in
the Turbine Building cannot be isolated.

¢. Any offsite release in excess of 1000 mr/hr and an unisolatable
RBCCW is discharging outside the primary and secondary containment.

d. Any release in excess of 1000 mr/hr from the CRD system and all the
130 foot elevation radiation levels are approximately 125 mr/hr.
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QUESTION: 017 (1.00)

Unit 2 is in KOT SHUTDOWN with a reactor pressure of 805 psig. Operability
tests are performed on all of the MSL Radiation Monitoring System Channels.
2D11~K603 A, B, €, and D, Channels A and D test UNSAT, while Channels B
and C test SAT. Maintenance has no estimate of repair time and will not be
able to commence troubleshooting and repairs for 16 hours.

WHICH Lo (1) of the following actions is required by the Technical
Specifications?

a. Place both unsat channels in the tripped condition within ona
hour and be in COLD SHUTDOWN within the next 24 hours.

b. Place onn trip system in the tripped condition within 1 hour and
be in 7OLD SHUTDOWN within the next 12 hours.

-8 ClorFe the main steam iscolation valves within 1 hour and be less
then 210 deg F within the next 12 hours.

- P.ace one trip system in the tripped condition within one hour
end be in COLD SHUTDOWN within the next 30 hours.

QUESTION: 018 (1.00)

Which ONE of the following will cause a main turbine trip following a loss
of stator water cooling? (ASSUME a 18,095 amp load, prior to failure of
stator water cooling.)

a. Time since failure 4.8 minutes

Load §290 amps
b, Time since failure 2.6 minutes

Load 15230 amps
e, Time since failure 3.2 minutes

Locd 4675 amps
d. Time since failure 2.3 minutei

Load 16340 amps



REACTOR OPERATOR

QUESTION: 019 (1.00)

WHICH ONE of the following describes the use of a Danger Tag?

b.

Isolates equipment from all sources of energy in order to
permit work to be performed safely.

Identifies equipment that requires shift supervision
authorization before it is operated.

Designates equipment that is to be used only durlng a declared
emergency.

Provides operator with additional information and to protect
equipment,

QUESTION: 020 (1.00)

Which ONE of the tollowing is NOT required to be worn while operating a
t

single pole disconnect sw

a.
b.
C.

d.

ch?
Hard hat

Safety glasses
Rubber boots

Rubber gloves
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QUISTION: 021 (1.00)
Given the following plant conditions:

- Reactor Mode Switch in STARTUP/HOT STANDBY
- Main Turbine in shell warming
- RFP A is maintaining level in single element control

Which ONE of the following describes the sequence of automatic actions if
condenser vacuum decreases from 27" Hg vacuum to atmospheric pressure?

a. lst-Main and RFP turbines trip
2nd-M81IVs close
drd-Main Turbine Bypass Valves close

b, 1st«RFP turbine trips
Znd=Main Turbine Bypass Valves close
jrd-~Reactor scrams on low vacuum

¢. 1st=RFP Turbine trips

2nd~Main Turbine Bypass Valves close
Jrd=Main Turbine trips

d. 1lst-Main Turbine trips
2nd-RFP Turbine trips and Ma.n Turbine Bypass Valves close
Ird-~M§1Vs close

QUESTION: 022 (1.00)

A contractor has the need to have access to non-vital areas outside the
Operating Building and Outside Structure.

Which ONE of the following is the procedure to be used to allow him access?

a. He may be issued & ey from the 0S0S key cabinet. if he has
completed the General Employee Training.

b. He may be issued a key by the Department Manager for whom he works
if accompanied by a GPC employee.

¢. He may be issued a key from the 0S0S key cabinet if he has written
permission from the Operations Superintendent.

d. He as a contract employee may not be issued a key to any area of
the plant.
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QUESTION: 023 (1.00)

Hatch Unit 2 has experienced a significant loss of coolant accident.
Plant conditions are as follows:

- RPV Pressure 150 psig (Emergency Depressurization in progress)
- Suppression Chamber pressure 37 psig increasing
- Suppression Pool water level 312 inches

Which ONE of the following actions is required by the EOPs to control
Suppression Chamber pressure?

a. Vent the Suppresséion Chamber per 31EO-EOP-101-28 irrespective of
offsite release rate.

b, Initiate Suppression Pool Sprays per 3450~E11-010~28 irrespective
of adequate core cooling.

¢. Vent the Drywell per 31EO-EOP-101-28 irrespective of offsite
release rate.

d. Initiate Drywell Sprays per 14S0-E11~2S irrespective of adequate
core cooling.

QUESTION: 024 (1.00)
During normal Unit 2 power operations, Drywell pneumatics (N2 makeup via
Drywell pneumatics) is lost.
Which ONE of the following describes the effect this loss has on the Unit 2
M8IVs. (Assume no operator action)
a. As nitrogen bleeds off, the inboard MSIVs will shut.
b. As air lecsks off the outboard MSIVs will shut.

€. As nitrogen bleeds off the inboard MSIVs, the first MSIV reaching
90% open nitiates a Group I isclation..

d. No action will occur sirce Instrument air will automatically backup
the Drywell pneumatics,.
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QUESTION: 025 (1.00)

Which ONE of the following will cause an isolation of the Drywell Hydrogen
and Oxygen monitor sample lines?

a. High radiation on the Drywell and Torus Gamma Radiation Monitors
(138 Rem/hr)

b. High Drywell Hydrogen concentration (10%)
¢. High Drywell temperature (280 deg F)
d. High Drywell pressure (1.92 psig)

QUESTION: 026 (2.00)

Which ONE of the following statements is corr.ct concerning the Unit 1 SBGT
system?

a. The SBGT AOVs fail as is on a loss of Station Service Air.

b. The SBGT system fans load shed on a LOSP, but may be restored after
depressing the Non-essential lLoad Lock-out pushbutton.

¢. The SBGT suctions from the Drywell and Torus are both connected to
the SBGT system through the excess flow isolation damper.

d., If drywell pressure exceeds 1.92 psig, the Unit 1 SBGT fans will
auto-start and align for suction from the Drywell.
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QUESTION: 027 (1.00)

HPCI is 1ngocting to the vessel with its suction from the CST. A high Torus
water level ocours.

Which ONE of the following describes the actions which should occur to the
HPCI system (Assume no operator accion has been taken)

a. HFCI suction will remain from the CST until a high CST level
occurs. Then the CST suction valve (2E41-F004) will auto shut.
When the CST suction valve is fully closed, the Torue suction
valves (2E41-F041 and F042) will open.

b. The CBT suction valve (2E41-F004) will auto shut. When the CS8T
suction is fully closed the Torus suction valves (2E41-F041 and
FO42) will auto open.

¢. The Torus suction valves (2E41-F041 and F042) should be manually
opened. When the Torus suction valves are 90% of full open, the
CST suction valve (2E41-F004) should be manually shut.

d. The Torus suction valves (2E41-F041 and F042) will auto open. When
the Torus suction valves are 90% of full open, the CST suction
valve 2E41-F004) will automatically shut.

QUESTION: 028 (1.00)

Unit 2 is operating at rated conditions with Core Spray loop "A" in its
normal standby lineup with the following exception: 2E21~F004A (outboard

discharge valve) is closed. A spurious Core Spray initiation signal is
received,

Which ONE of the following describes the response of the Core Spray Valves?
a. Both 2E21-F004A and 2E21~F005A will auto open.

b, 2E21-F004A will immediately auto open and 2E21-FO005A will auto open
if reactor pressure decreases to below 500 psig.

c. 2821-?00¢i will immediately auto open and 2E21-F00‘(}w111 auto open
if reactor pressuce decreases to below 500 psig.

-) &
d. Neither 2E21-FOOSA or 2E21-FOOFA will auto open under these
conditions,
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QUESTION:

029 (1.00)

Which ONE of the following describes the response of the Main Turbine EHC
control system when the pressure input to pressure regulator fails while
operating at near rated conditions?

QUESTION:

1f the "A" pressure regulator input fails HIGH, the "B" press.:ce
regulator takes control and closes the Turbine Control Valves
slightly to maintain pressure

If the "A" pressure regulator input fails LOW, a full open signal
is sent to the Turbine Control valves.

If the "B" regulator input fails HIGH, a full open signal is sent
to the Turbine Control and Bypass valves and the MSIVs close on low
pressure.

If the "B" regulator input fails LOW, a full closed signal is sent
to the Turbine Control Valves.

030 (1.00)

Which ONE of the following DESCRIBES the FINAL STEADY STATE plant
conditions after the loss of the "A" Reactor Feed Pump from 100% power.
Assume no operator action and all systems perform as designed.

Reactor Power 50-55%

Reactor Water Level at normal level

Recirculation Pumps at 44% speed

"B" Reactor Feed Pump speed higher than before the trip of "A"

Reactor Power 50~55%

Reactor Water Level .t normal level

Recirculation Pumps at 22% speed

"B" Reactor Feed Pump speed the same as before the trip of "A"

Reactor Power 60-65%

Reactor Water Level below normal level

Recirculation Pumps at 22% speed

"B" Reactor Feed Pump speed lower than before the trip of "A"

Reactor Power 60-65%

Reactor Water Level at normal level

Recirculation Pumps at 44% speed

"B" Reactor Feed Pump speed higher than befcre the trip of "A"
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QUESTION: 031 (1.00)

Which ONE of the following is the Primary Containment condition which would
require the initiation of a Unit 2 LCO?

a. Mode Switch in SHUTDOWN, reaccor coolant temperature 350 deg F, and
Torus level is 145 inches.

b, Mode Switch in STARTUP, reactor coolant temperature 180 deg F, and
Drywell pressure is .7 psig.

¢, Mode Switch is in RUN and Drywell average air temperature is
130 deg F.

d. Mode Switch in RUN and Torus water temperature is 97 deg F.

QUESTION: 032 (1.00)

During fuel loading on Unit 2, the grapple is loaded and the platform is
over the reactor.

Which ONE of the following is an acceptable means of placing the fuel
bundle in a safe condition if the reactor cavity water level begins to
slowly decrease?

a. Move the fuel bundle to the fuel pool prep machine area and lower
the bundle as low as possible and leave grappled.

b. Move the fuel bundle to the fuel pool and lower it into any open
fuel storage rack in the fuel pool.

¢. Move the fuel bundle over the core and lower it into any core
location that is available.

d. Do not move the bundle laterally but lower it to the lowest
position possible in the reactor cavity.
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QUESTION: 034 (1.00)
A transient has occurred on Unit 2 causing the following plant conditions:

Reactor water level CANNOT be determined

The reactor has scrammed ard all rods have inserted beyond 02
Only 2 S8RVs can be opened

Drywell pressure is 2.4 psig and increasing

Reactor pressure is 830 nsig and decreasing slowly

The MSIVs are closed and cannot be opened

Which ONE of the following is the next action to be taken in accordance
with the EOPs?

a. Using all available systems, inject into the RPV until level
indication is restored, all Drywell RTDs read less than 210 deg F
and RPV pressure has remained at least 50 psid above suppression
chamber pressure for at least the core flooding interval.

b. Trip the Drywell cooling fans, inject with all available systems
until suppression pool water level increases to 200 inches then
vent the RPV using HPCI and RCIC steam lines and the main steam
line drains.

€. Rapidly depressurize tha RPV using HPCI, RCIC, HPCI drains, RCIC
drains, main steam line drains and RHR steam condensing, then
establish steam croling until RPV water level indication is
restored, then proceed to cooldown,

d. Prevent all injection into the RPV except for RCIC and CRD until
all Drywell RT)e read less than 210 deg F and RPV water level
indication has been restored and water level is at least above =162
inches.
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QUESTION: 035 (1.00)

Which ONE of the following plant conditions will result in the 1B Emergency
Diesel Generator tieing to NEITHER Unit 1 or Unit 2.

a.

Select switch is in Unit 2 and LOSP occurs to each unit.
Select switch is in Unit 1 a LOCA on Unit 2 and a LOSP on Unit 1.

loioct switch i in Unit 2 a LOCA/LOSP on Unit 1 and LOSP on
Unit 2.

Select switch is in Unit 1 and a simultaneous LOCA/LOSP to both
units,

QUESTION: 036 (1.00)

Unit 2 is operating at 100% power with the Off-Gas Mode Switch in AUTO.
Off-Gas Post-Treatment radiation monitor channel "A" indication increases
to just above the high alarm setpoint. The "B" channel reading remains

normal.

Which ONE of the following explains the response of the Off-Gas components?

b.

2N62~F057, Off-Gas Stack Isolation Valve, receives a close signal.

2?62-rn42, Off-Gas Discharge to Carbon Bed Valve, receives a close
signal

. All Off-Gas Loop Seal Drain Valves receive a close signal

2?62-?043, Off-Gas Carbon Bed Bypass Valve, receives a (lose
signal.
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QUESTION: 037 (1.00)

Both units are operating at 100% power when a transient in Unit 1 causes
the Unit 1 RPV level to decrease to =50 inches.

Which ONE of the following DESCRIBES the response of the Unit 1 and Unit 2
Standby Gas Trei“ment Systems?

a. Neither unit running
b. Both units running
¢, Unit 1 running

d. Unit 2 running

QUESTION: 038 (1.00)

Which ONE of the following will reset the ADS 120 second timer while in the
process of timing out following a valid initiation signal?

a. Drywell pressure decreases to 1.5 psig.
b. Reactor water level increases to ~90 inches.
c. "A" and "B" core spray pumps trip off.

d. RHR pump discharge pressure decreases to 117 psig.
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QUESTION: 039 (1.00)

A loss of the 2C and 2D 4160 VAC switchgear occurs fillowing a main turbine
trip.

Which ONE of the following dcscribes the response of the Unit 2 Reactor
Recirculation MG Set lube oil system(s)?

a. The DC Oil Pumps fur each Recirc MG set will auto start and supply
oil to the Motor, Generator, and the Fluid Drive Coupler bearings.

b. There i: no effect since 2C and 2D do not supply the pumps for the
Unit 2 Recirculation 0il Pumps.

€. The A) and B3 AC Lube Oil Pumps for the recirc MG Sets will auto
start and supply oil to the Fluid Drive Coupler bearings only.

d. The DC oil Pumps for both Unit 2 Recirc MG sets will auto start and
supply oil to the Fluid Drive Coupler bearings only.

QUESTION: 040 (1.00)

A Loss of Coolant Accident (LOCA) has occurred on Unit 2. The following
plant conditions exist:

Reactcr Pressure 1000 psig
Suppression Pool Level 155 inches and increasing
Suppression Chamber Pressure 10 psig and increasing

HPCI is injecting into the RPV

EOP PC~1 has been entered and al! flow paths are being performed
concurrently.

Which one of the following actions is the next to be performed in
accordance with the EOP?

a. Trip and prevent operation of HPCI IRRESPECTIVE of adequate core
cooling.

b. Terminate and prevent injection into RPV from external sources
except for thouse required for adeguate core cooling.

¢. Defeat high suppression pool water level transfer logic for HPCI,

d. Trip the Recirculation Pumps and Drywell Cooling Fans and initiate
Drywell Sprays.
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QUESTION: 043 (1.00)

Unit 1 has experienced a transient due to a Primary System discharging into
the Secondary Cuntainment. The opersting crew has just completed Emergency
Depressurization.

Which ONE cf the following level instrument indications is no longer valid
and should not be used for level indication?

a. 2B21~-R60%5 Floodup Range.

b. 2C32-R606A, B, C Narrow Range.

¢. 2B21-R623 Wide Range.

d., 2B21~R610 Fuel Zone Range.

QUESTION: 044 (1.00)

Unit 2 is operating at 80% power when valve 2G31-F004, Outboard Suction
Isolation Valve closes.

Which ONE of the following describes the possible status of the RWCU system
and the cause of the isclation?

a. ISOLATION FAILURE, Reactor Water Cleanup Valve 2G31-F001 should
have also closed on high outlet temperature on the Non Regenerative
Heat Exchanger.

b. ISOLATION FAILURE, Return Isolation Valve 2G31-F042 should have
also closed on high differential flow between the inlet and outlet
of the heat exchanger.

€. NO ISOLATION FAILURE, 2G31-F004 is the oniy valve which closes on
High differential Flow Between Inlet and Outlet.

d. NO ISOLATION FAILURE, 2G31~F004 is the only valve which c¢loses on
High Outlet Temperature on the Non-Regenerative Heat Exchanger.



O TR S —————— | i e e R

REACTOR OPERATOR

QUESTION: 045 (2.00)

rage 32

SELECT the items in Column B associated with the valves listed in Column A.
(Items in Column B may be nsed once, more than once or not at all. Only
ohe answer may occupy a space on Column A).

4 anawers required at 0.50 each)

COLUMN A

a. Heat Exchanger Shell
Bypacs Valve FO048A

b. .nboard Injection Valve
FO15A
“essure Reducing

ic n Valve F091A

ction Valve

COLUMN B

Auto opens and interlocked open
for % minutes on receipt of a LOCA
signal (with reactor pressure less
than 449 psig)

FOO6A must be closed in order to
manually open the valve.

Can be manually opened with
reactor pressure less than

138 psig and low reactor water
level signal not present

Auto closes and interlocked closed
upon receipt of a LOCA signal or
RWL less than 2/3 core height

Auto closes on a LOCA signal and is
interlocked closed for the duraticn
of the signal

Opens and is interlocked open for
three minutes following a LOCA
signal

Auto opens and is interlocked open
on receipt of a LOCA signal (with
reactor pressure less than 425
psig)
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QUESTION:

046 (1.00)

Which ONE of the following describes the AUTOMATIC response of the CRD
Hydraulic System to a scram with a LOCA signal present?

QUESTION:

For the
labeled

Both CRI pumps will trip and the flow control valve (F002) will
fully open.

Both CRD pumps will trip and the flow control valve (F002) will
fully close.

The running CRD pump will remain running and the flow control valve
(FOO2) will fully open.

The running CRD pump will remain running and the flow control valve
(F002) will fully close.

047 (2.00)

Control Rod Drive Hydraulic system components in Column A and
on figure 2, SELECT the component identification fron Column B.

(Items in column B will only be used once and only one answer may occupy a
space in column A). (4 required at 0.50 each)

COLUMN A COLUMN B
(Component) (Componerit identification)
a. L Drive Water Pressure Control
. Valve
b.
2. Flow Control Valve
-
- [ Drive Water Filter
d.

&' CRD Suction Filter

5. Return Line Pressure Control
Valve

6. Cooling Water Pressure Control
Valve

: M Stabilizing Valve

8. Directional Control Valve



FROM
CONDENSATE

FROM CS7

FIGURE 2
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QUESTION: 048

(1.00)

Which ONE of the fellowing describes the response of the Reactor Manual
Control System to a loss of the high voltage power supply to APRM Flow
Converter Unit A?

a. Initiates a full FLOW BIASED SCRAM.

b, Initiates a ROD WITHDRAWAL block for all control rods

¢. Initiates a 1/2 SCRAM on RPS bus A.

d. Initiates a SELECT block for all control rods.

QUESTION: 049

(1.00)

Which ONE of the following describes ROD DENSITY?

a. The number of control rod notches withdrawn as a fraction of the
total number of control rod notches.

b. The total number of control rods withdrawn as a fraction of the
total number of control rods.

c¢. The number of control rod notches inserted as a fraction of the
total number of control rod notches.

¢. The number of control rods inserted as a fraction of the total
number of control rods.

QUESTION: 050

(1.00)

Unit 2 is operating at 80% with RPS MG set "A" supvolying RPS bus "A" and

RPS bus "B"

supplied from Essential Cabinet 2B.

Which ONE of the following describes the response of the Reactor Protecticn
system to the loss of 600 VAC essential bus 2C?

a. 1/2
b. 1/2
c. 1/2
d. 1/2

scram on RPS bus "B" (no rod motion)
scram or RPS bus "A" (no rod motion)
isolation G.ooups II and V (no valve action)

isolation Group I (half of the valves close)
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QUESTION: 051 (1.00)

Unit 2 is operating at 100% power when "B" steam flow signal to the Reactor
Water Level Control System fails upscale.

Which ONE of the following describes the effect on the ACTUAL Reacter
Vessel water level? (Assume no operator action,)

a. Reactor water level

b. Reactor water level
feed pump trip.

¢. Reactor water level

d. Reactor water level

QUESTION: 052 (1.00)

will decrease to the low level scram setpoint.

will increase until terminated by a high level

will decrease 6 to 10 inches and stabilize.

will increase 6 to 10 inches and stabilize.

A reactor startup is in progress on Unit 2. The following plant conditions

exist:

All SRMs

SRM A

SRM B

SRM C

SRM D

IRMs C and F
All other IRMs

Fully inserted
180 counts/seccnd
170 counts/second
205 counts/second
215 counts/second
Range 2

Range 3

The operator attempts to withdraw SRM detector B.
Which ONE of the following describes the effect on the rod bluck system as
a result of the attempted detector withdrawal?

a. The detector can be
associated IRMs are

b. A rod block will be
agssociated IRMs not

¢. A rod block will be
range 8

d. A rod block will be

withdrawn with no rod block because all of its
on range 2.

initiated because of less than 200 cps and
on range 3.

initiated because associated IRMs are not on

initiated because the SRM count rate is less

than 200 cps and the Mode Switch is not in RUN.
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QUESTION: 0853 (1.00)

Unit 2 is in reactor startup with the IRMs on range 5. A loss of power
ogccurs on 24/48 VDC Cabinet A.

Which ONE of the following describes the effects on the IRM system?
a. The IRM/APRM recorders for IRMs A, C, E and G become deenergized.
b. Control power is lost for the IRM detector withdrawal motors.
¢. IRMs B, D, F, and H fail downscale with no rod block.

d. IRMs A, C, E, and & fail downscale and initiate a rod block.

QUESTION: 054 (1.00)

Which ONE of the following conditions would result in a rod block generated
by the Unit 2 Rod Block Monitor?

a. With reactor power at 60%, outward rod motion causes the RBM
recorder to read 114%.

k. With reactor power at 50%, outward ro>d motion causes the RBM
recorder to read 96%.

€. With reactor power at 80%, outward rod motion causes the RBM
recorder to read 110%.

d. With reactor power at 95%, outward rod motion causes the REM
recorder to read 105%.
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QUESTION:

055 (2.00)

For the automatic actions on reactor water level listed in Column "A"
SELECT the appropriate regquired level setpoint from the list in Column "B",
(Setpoints in column B may be used once, more than once, or not at all.
Only one answer may occupy a space in Column A). (4 required 0.50 each)

COLUMN A COLUMN B
Automatic Action Level Setpoint
&. Shutdown Cooling Valves +58"
Close
2. +56.5"
e b. Primary Containment Group V
Isolation 3a +42"
¢. Containment Spray Permissive 4. +37"
(2/3 core coverage)
5 +32"
d. Standby Gas Treatment Starts
6. oon
7. =47
8 =113"%
9. -202"
QUESTION: 056 (1.00)

Which ONE of the following describes the operation of the RCIC Turbine Trip
Throttle Valve and/or the RCIC Governer valve?

b,

C.

d'

The Turbine Trip Throttle Valve provides for manual throttling of
the steam flow tou the turbine on the failure of the Governor valve.

The Turbine Trip Throttle Valve provides turbine speed control by
throttling turbine steam flow during normal automatic operation.

The Governor Valve provides for manual throttling of the steam flow
to the turbine on failure of the Turbine Trip Throttle Valve.

The Governor Valve provides for isolating the RCIC turbine from the
steam supply on a RCIC turbine trip.

LIRS ==
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QUESTION: 057 (1.00)

Which ONE of the following describes the operation of the Recirculation
Pump "peed Limiter #17

Limits the speed of the pump to 22% if either Feedwater Pump has
less than 20% of rated flow AND reactor water level is less than
3.4,

Limits the speed of the pump to 22% if the pump discharge valve is
not full open OR total feedwater flow is less than 20% of rated
flow.

Limits the speed of the pump to 22% if the feedwater flow of either
feedwater pump is less than 20% of rated flow OR reactor water
level is less than 32",

Limits the speed of the pump to 22% if the feedwater flow of either
feedwater pump is less than 20% AND reactor water level is lcss
than 32"

QUESTION: 058 (1.00)

Plant Hatch Unit 2 Technical Specification 4.4.1.2 requires demonstrating
Recirculation Jet Pump operability if Jet Pump Failure is suspected.
Which ONE of the following identifies the acceptance criteria which

demonstrates operability?

a.

b.

|
The recirculation pump flow/speed ratio does not deviate from the
normal range by more than 20%.

The recirculation pump flow/speed ratio does not deviate from the
normal range by more than 15%.

The jet pump loop flow/speed ratio does not deviate from the normal
range by more than 10%.

. The jet pump locp flow/speed ratio not does deviate from the normal

range by more than 5%.
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QUESTION:

059 (1.00)

The RCIC System has received an initiation signal on Reactor Vessel Low
Water level (lLevel 2). The Steam to Turbine Bypass Valve 2E51-F119 fails to

open.

wWwhich one of the following describes the response of the RCIC system?

QUESTION:

Units 1
Exhaust

Steam to Turbine Valve 2ES51-F045 will not open and the RCIC turbine
fails to start.

. Steam to Turbine Valve 2E51-F045 opens when the RCIC initiation

signal is received.

Steam to Turbine Valve 2ES51-F045 opens 3-5 seconds after the RCIC
initiation signal is received.

Steam to Turbine Valve 2E51-F045 cpens 8-10 seconds after the RCIC
initiation signal.

060 (1.00)

and 2 are operating at 100% power when a Unit 1 Reactor Building
Ventilation High Radiation alarm is received.

Which one of the following describes the response of the Secondary
Containment System(s) to this condition?

d.

Unit 1 Refueling Floor Ventilation System trips and isolates.
Units 1 and 2 Reactor Building Ventilation Systems trip and
Isclate,

Unit i Standby Gas Treatment System Auto starts.

. Units 1 and 2 Refueling Floor Ventilation Systems trip and isolate.

Units 1 and 2 Reactor Building Ventilation Systems trip and
isolate.
Units 1 and 2 Standby Gas Treatment Systems Auto start.

. Unit 1 Refueling Floor Ventilation System trips and isolates.

Units 1 and 2 Reactor Building Ventilation Systems trip and
isolate.
Units 1 and 2 Standby Gas Treatment Systems will Auto start.

Units 1 and 2 Refueling Floor Ventilation Systems trip and isolate.
Unit 1 Reactor Building Ventilation trips and isolates.
Units 1 and 2 Standby Gas Treatment Systems Auto start.
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QUESTION: 061 (1.00)
Primary Containment Flooding is required utilizing the Fire System,
Which ONE of the following describes the flow path to be utilized for
Primary Containment Flooding from Fire Hydrant 117
a. Condensate transfer loop A and then into the RCIC loop.
b. Condensate transfer loop B and then into and Core Spray Loop A

c. Condensate transfer loop B and then into any RHR loop not operating
in the LPCI mode.

d. Condensate transfer loop A and then into Core Spray Loop B

QUESTION: 062 (1.00)

During a plant transient on Unit 2 it has been determined that Suppression
Chamber pressure cannot be maintained below 49 psig. Suppression Pool water
level is 304 inches. In accordance with the emergency procedures,

which ONE of the following actions should be taken?

a. Vent the Suppression Chamber utilizing Torus Vent Flow Control
Valve 2T48-F337 A(B).

b. Vent the Suppression Chamber utilizing Torus Air Purge Valve 2T48~-
F309.

¢. Vent the Drywell utilizing Drywell Vent Flow Control Valve 2748~
F336A(B).

d. Vent the Drywell utilizins Drywell Air Purge Valve 2T48-F307.
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QUESTION: 063 (1.00)

Unit 2 Scram Procedure 34AB-~OPS-060-285 directs breaking turbine vacuum if
the MSIVs are closed on a scram.

Which ONE of the following is the reason for taking this action?

a. Prevents damage to the Intercept Stop valves due to passing
condensate through the valves.

b. Prevents rotor bowing of the low pressure rcotors of the Main
Turbine.

¢. Prevents sucking lube oil from the main turbine bearings into the
condenser,

d. Prevents damage to the turbine gland seal due to sucking cold air
through the s.::1.

QUESTION: 064 (1.00)

A loss of Vital AC power has cccurred on Unit 2.

Which of the following automatic RPS actions should immediately occur?
a. A half scram.
b. A full scram.
c. A 1/2 Group I isolation,

d. A control rod select block.
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QUESTION: 065 (..00)

Page 42

A transient has occurred on Unit 2 due to the loss of a Recirculation Pump.
Which of the following sets of plant conditions requires and immediate
scram in accordance with 24 AB-OPS~058-28? (Reactor Power Verses Flow Map

attached)

a. Reactoer Power
Core Y.ow
APRM Cscillations

b. Reactor Power
Core ¥Fiow
APRM Gscillations

¢. Reactur Power
Core Flow
Two LPRM Oscillations

d. Reactor Power

Core 7low
APRM Cscillations

QUESTION: 066 (1.00)

60%
46%
3%

40%
8%
9%

54%
42%
8%

60%
39%
5%

An ATWS event has occurred on Unit 2. The following plant conditions

exist:

MSIVs
RPV Level

Clused
TAF

No rod insertion steps can be perforied
The STA cannot confirm COLD SHUTDOWN with the current rod

configuration

Which ONE of the following conditions will allow the crew to INITIALLY
restore the RPV water level to the normal level band (+12.5" to +51.5")?

a, SRV steam flow ig less than the capacity of 3 valves,

b. SBLC tank level is below the HOT SHUTDOWN level of 26%.

C. Reactor power is less than 3% on all APRMs.

d. The 5RVs are no lunger cycling and remain closed.
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QUESTION: 067 (1.00)
Unit 2 is operating at 100% power when a loss of instrument air occurs.

Which ONE of the following conditions would require the operator to insert
a manual scram?

a. Five CRD mechanisms have temperatures greater than 250 deg F and
local CRD pressure is 70 psig.

b. Two CRD mechanisms have temperatures greater than 450 deg F, CRD
high temperature alarm and local scram pilot air pressure is 51

psig.

c. C. e CRD mechanism has a high temperature alarm and local scram
Fi1lot pressure is 40 psig.

d, S8ix accumulator trouble lights exist and local CRD pressure is 55
psig.

QUESTION: 068 (1.00)

RHR Shutdown Cooling has just been placed in service on Unit 2.
Which ONE of the folleowing describes the operation of the RHR valves if
reactor pressure increases to 150 psig?

a. RHR Shutdown Cooling Suction Valve 2E11-F006 and RHR Heat Exchanger
Shell Side Outlet Valve 2E11-F003 close.

b. RHR Heat Exchanger Inlet Valve 2E11-F047 and RHR Shutdown Cooling
Suction Valve 2E11-F006 close.

¢. RHR Suction Cooling Valve 2E11-F008 and RHR Suction Cooling Valve
2E11~F009 close

d. RHR Shutdown Cocling Suction Valve 2E11~F006 and RHR Discharge to
Rad Waste 2El. FO040 close.
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QUESTION: 069 (1.00)

Which ONE of the following describes why a manual scram should be initiated
to prevent an area in the Secondary Containment from reaching MAX SAFE
operating temperature?

a. Limits radiation release to the secondary containment.

b. Reduces the energy that the primary system is discharging.

¢. Returns area temperature below limits to allow personnel access.

d. Eliminates the need for emergency depressurization.

QUESTION: 070 (1.00)

Which ONE of the following sets of conditions would be a Safety Limit
viclation in accordance with the Technical Specifications?

a. While operating at full power the Unit 2 HPCI and ADS systems are
declared inoperable.

b. Unit 1 is in Cold Shutdown with the RHR system operating in
Shutdown Cooling. The reactor steam dome pressure increases to
155 psig without occurrence of an isolation.

c. Unit 1 is operating at 22% power and the EHC pressure regulatcr
fails. The reactor pressure drops to 820 psig before the reactor
scrams.

d. During a Unit 2 core reload, RPV level is lost due to an unisolable
leak. Level drops to =167 inches and is restored to =15 inches
with emergency systems.
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QUESTION: 071 (1.00)

Which ONE of the fcllowing is the basis for maintaining drywell
temperatures bzlow 135 deg F?

a. To prevent false RPV level indication during depressurization.
b. To avoid violation of the Drywell Spray Initiation Limit,
¢. To minimize damage to electrical equipment inside drywell.

d. To ensure that temperatures remain below design limits during
LOCA conditions.

QUESTION: 072 (1.00)

The RCIC System has initiated on a valid initiation signal and has operated
for 15 minutes. The following conditions now exist:

-~ RCIC Steam Line Flow 265%

= RCIC Area Temperature 131 deg F

- Reactor Pressure 104 psig

- Reactor Level +59 inches

Which ONE of the following describes the RCIC System response?

a. Steam Line Isolation Valves, E51~FC07 and E51-F008, close.
b. Minimum Flow Valve, E51-F019, closes.
c. Steam Supply Valve, ES51-F045, closes.

d. Trip and Throttle Valve, E51-F524, closes.
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QUESTION: 073 (1.00)
While restoring RPV water level following RPV Flooding, jumpers are
installed for the RHR Torus Spray Valves (2E11-FO028A/B).
Which ONE of the following is the reas»n that the jumpers are installed?
a, To establish torus spray capability.
b. To establish suppression pool cooling.
¢. To override the LOCA isolation signal.

d. To drain/pump the RPV into the suppression pool.

QUESTION: 074 (1.00)

Which ONE of the following defines the status of the Parameters displayed
and labeled a through d on Figure 17

a. The RED background indicates there is a valid Group I signal but no
MSIVs have moved.

b. The ORANGE background indicates that LLS is actuated and no LLS
valves are open.

¢. The RED background indicates the SRMs have received an insert
signal, but have not inserted into the core.

d. The YELLOW background indicates that a signal is not available to
SPDS from the H2 02 analyzer, or the analyzer is not in service.
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QUESTION: 075 (1.00)

Which ONE of the following correctly identifies the lowest gualifications
for coperations personnel conducting an independent verification?

a. A first line work supervisor responsible for the activity who
observéu, but did not perform the activity.

b. A Plant Equipment Operator separated by time and distance from
the performer.

c. A licensed SRO who observed but did not perform the activity.

d. A non licensed Assistant Plant Equipment Operator separated by
time and distance from the performer.

QUESTION: 076 (1.00)

Which ONE of the following is the LOWEST LEVEL OF AUTHCORITY who can
authorize or perform a plant shutdown in an emergency?

a. The Plant Manager or his designee.
b. A member of the plant staff holding an SRO license.
<. A member of the operating crew holding an SRO license.

¢ A member of the plant staff holding an Ru license.
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QUESTION:

077 (1.00)

Which ONE of the following describes the required action to be taken if the
Operations Supervisor on Shift is required to leave the Contreol Room while
both Unit 1 and Unit 2 are operating?

b.

QUESTION:

The Unit 2 Shift Supervisor assumes the Operations Supervisor
duties until he returns to the Control Room.

The Unit 1 Shift Supervisor assumes the Operations Supervisor
duties and the Unit 1 senior RO assumes Unit 1 Shift Supervisor
responsibilities.

The Unit 2 Shift Supervisor assumes the Operations Supervisor
duties and the Unit 2 senior RO assumes the Unit 2 Shift Supervisor
responsibilities.

The Unit 1 Shift Supervisor assumes the Operations Supervisor
duties until he returns to the Control Room.

078 (1.00)

Which ONE of the following describes the procedure to be followed to verify
a LOCKED THROTTLE VALVE?

Unlock the valve, turn the handwheel 1/4 turn in the close
direction, then turn the handwheel 1/4 turn in the open direction
and reinstall the locking device.

Locked valves are not required to be verified following their
initial positioning and verification.

Unlock the valve turn the handwheel 1/4 turn in the open direction,
then turn the valve handwheel 1/4 turn in the close direction and
reinstall the locking device.

The verification of locked throttle valves is performed by
verifying the operability of the attachad locking device.
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QUESTION: 081 (1.00)
Which ONE of the following describes, per Technical Specifications, when
the Unit 2 Suppression Pocl level needs to be maintained above 12 feet
2 inches?
a. At all times when there is fuel in the zore.
b. AT all times for operational modes one through five.
c. At all times in modes one through four.

d. At all times in modes one through three.

QUESTION: 082 (1.00)
Which ONE of the following recirculation flow converter unit failures would
result in a half scram on RPS Channel A? (Assume APRMs indicate 85%
power. )
a. Flow converter A fails upscale
b. Flow converter B fails upscale

¢. Flow converter C fails downscale

d. Flow converter D fails downscale
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QUESTION: 083 (1.00)

The reacter is operating at 70% rated power when the outboard MS1V on steam
line B inadvertently closes.

Which ONE of the following describes the expected RPV response to this
transient?

a. Reactor pressure increases and then returns to its initial value as
the control valves throttle open.

b. Reactor pressure increases and stabilizes at a higher pressure due
to the increase in the steam line head losses.

c. Reactor water level increases and then returns to its initial value
due to the level error signal in reactor level control.

d. Reactor water level decreases and stabilizes at a lower level as
the stean flow decreases.

kL adid 241
N 00 t— | !—: ) /:}' J
““QUESTION: 084 (1.00) DE 2/27/94.

Whiéﬁ\ E of the following describes the basis for the Drywell Spray
Initiat oa\Limit Curve?

a. To prevan; unstable steam condensation in the SRV tailpipes from
exerting cXBassive cyclic hydraulic loads on the suppression pool
structure .

b. To prevent chuggxng Ih~;he drywell to toru: downcomers from
exerting excessive cycllcwhydraulxc loads on the suppression pool
structure

¢. To ensure that the rate at which the~pr1mary containment is
depressurized is within the capacity o?*the reactor building~to=-
suppression charber vacuum breakers ‘

d. To ensure adequate noncondensibles remain in thémarywell to prevent
the reactor building-to-suppression chamber vacuum bfnqkers from
opening during drywell steam condensation .
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QUESTION: 087 (1.00)

Which ONE of the following is the primary concern regarding continued plant
operation with an inoperakble (or failed) jet pump.

a. Invalid APRM Flow Biased SCRAM setpoints due to the change in
flow through a failed jet pump.

b. Increased blowdown area during a Loss of Coolant Accident
(LOCA) .

¢. Unbalanced neutron flux across the core due to flow variations.

d. Jet pump riser vibrations due to unbalanced flow.

QUESTION: 088 (1.00)

Which ONE of the following describes the configuration of a fire protection
DELUGE system?

a. Consists of a riser and branch lines that are pressurized with
water at fire header pressure with CLOSED sprinkler heads.

b. Consists of a riser that is pressurized with water up to a clapper
(check) valve being held closed by air pressure between the clapper
and CLOSED sprinkler heads.

c. Consists of a riser that is pressurized with air to monitor system
integrity up to a quick opening automatic clapper (check) valve
that supplies branch lines with OPEN sprinkler heads.

d. Consists of a riser that is pressurized with water up to a quick
opening manual or automatic valve that supplies branch lines with
OPEN sprinkler heads.
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QUESTION: 089 (1.00)

Which ONE of the following describes the arrangement of the valves in the
Reactor Building-to-Suppression Chamber Vacuum Relief System?

a. Two lines, each with a self actuated check valve and an air
operated butterfly type vacuum breaker in series.

b. Two lines, each with a self actuated check valve and an air
operated butterfly type vacuum breaker in parallel.

€. A single line with two self actuated check valves in series in each
line,

d. A single line with a self actuated check valve and an air operated
butterfly type vacuum breaker in series.

QUESTION: 090 (1.00)

Unit 1 and Unit 2 are operating at 100% power when a loss »f Startup
Transformer 2D occurs.

Which ONE of the following describes the response of the 4160 volt
electrical system?

a. 4160 buses 2A, 2B, 2C and 2D deenergize, buses 2C and 2D fast
transfer to Auxiliary Transformer 2B.

b. 4160 buses 2E, 2F and 2G deenergize and the buses fast transfer to
Startup Transformer 2C.

C. 4160 buses 2A, 2B, 2C, and 2D deenergize and buses 2A and 2B fast
transfer to Startup Transformer 2C.

d. 4160 buses 2E, 2F, and 2G deenergize and the buses fast transfer to
Auxiliary Transformer 2B.
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QUESTION: 091 (1.00)

Which ONE of the following describes the condition, per procedure, in which
a key may be allowed to remain in the keylock switch?

QUESTION:

Unit 2 Reactor Mode Switch Key in Condition §
Unit 1 Reactor Mode Switch Key in Refueling
Unit 1 HPCI Steam Isolation Valves in the OPEN position

Unit 2 Charccal Adsorber Vessel Mode Switch

092 (1.00)

As a result of a transient on Unit 2 the RHR pumps have been injecting in
the LPCI Mode. Level increased to +12 inches and the RHR pumps were shut
down manually.

Which ONE of the following describes the response of the RHR pumps if the
level then falls to -101 inches?

a.

The pumps will start automatically since the low level will
initiate an autumatic reset of the manual stop signal.

The pumps will remain stopped until the LOCA initiation signal has
been reset.

The pumps will start automatically if the low RPV leve! is also
accompanied by high drywell pressure.

The pumps will remain stopped an¢ must be manually s%arted with the
pump control switch.
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QUESTION: 093 (1.00)
Which ONE of the following describes the purpose of the enable/disable
switch for the Reactor Water Cleanup System Blowdown Flow Control Valve
(F033)7?

a. Enables the upstream pressure isolation signal for the valve when
in the enable position

b, Enables the operation of the valve with the flow controller when in
the enable position.

¢. Disables the downstream pressure isoiation signal for the valva
when in the disable position.

'+ Disables the high differential pressure closure of the valve when
in the disable position.

(**kkarnnus END OF EXAMINATION *hhhadsknn)
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‘gsﬂ\f;figiE!L
Qyine ©
ANSWER: 001 (1.00) e £
‘Jf. ' ‘
a. v v
REFERENCE !
E.1. Hatch, Trip of One or Both Reactor Racirculation Pumps, 34AB~

OP§-032-28, pg 4.
2950016010 [3.8/3.7)

29500146010 «+(KA'S)

ANSWER: 002 (1.00)
h.
REFERENCE:
E.I. Hatch, Remote Shutdown Panel, LT-IH-05201-00, pg 12, 13, and 14.

Learning Objective 6.
295016K202 ([4.1/4.1)

295016K202 ««(KA's)

TANSWER: 003 (1.00) DEIETED
T pAR  2/21/ 94
REFERENCE:
 E.I. Hatch LR-IH-20306-02, EOP Curves and Limits Section 111.A

Learning Nbjective §
295026G007 (3.8/4.1)

295026G007 ««(KA'S8)

ANSWER: 004 (1.00)
d.
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REFERENCE:
E.I. Katch, EOP Flow Chait, Alternaty lLevel Control CP-1
295031K304 ([4.0/4.3)

295031K304 ++(KA'S)

ANSWER 0Cs (1.00)
b,
REFERENCE:
E.1. Hatch LT-IH~00401~01, p. 12, E.O, 19.

E.l1.Hatch Unit 2 Technical Specification Bases 3.4.1.2
K/A 202001G006 [3.0/4.1)

202001G008 «+(KA’S)

ANSWER: 006 (1.00)
a.
REFERENCE:
£.1. Haten LT-IH-01001-00, Reactor Protective System, Section V.B.1

Learning Objective EO #6
212000K502 ([3.7/3.8)

212000K502 «+ (KA'S)

ANSWER: 007 (1.00)

b.
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REFERENCE:
E.1. Hatch, LT~IH-03801-03, Automatic Depressurization Systen,
Section I111.3.b

Learning Objective TO 038.002.a
218000A402 [(4.2/4.2)

218000A402 ++(KA'S)

ANSWER: 008 (2.00)
a. 6
b, 4
c. 3
d, 4 (4 answers required 0.50 each)
REFERENCE !
E.1. Hatch LT=IH-03101-00, Off-Gas System, Section 1V

Learning Objective EO 6
2710006004 (3.4/3.5)

271000G004 ++(KA’S)

ANSWER: 009 (2.00)

a. 7

b. 6

d. 2 (4 answers required 0.50 each)
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REFERENCE:
E.1. Hatch LT=IH~04401-00, Reactor Vessel, Section I1II1.A and B

Learning Objectives 4 and &
290002K507 (3.9/4.4)

290002K507 ++(KA'S)

ANSWER: 010 (1.00)
d.
REFERENCE!
E.1. Hatch, 34AT-0PS~045+-28, Loss of Feedwater Heating, Section 3.3

learning Objective LT-TH-20201-02 Objective 2
295014A102 (3.6/3.8)

295014A102 «+(KA's)

ANSWER: 011 (1.00)
b.
REFERENCE:

E.I. Hatch, 34AB-OPS~011-28, Loss of Reactor Building Closed Cooling Water,
pg 2
295018K202 ([3.4/3.6)

295018K202 «+ (KA's)

ANSWER: 012 (2.00)

a. 4
b. 2
iy . PEIETE )

d. 3 ;%4A 2/3v/ 74 (4 answers required at 0.50 each)
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REFERENCE:

E. 1. Hatch 34 AB-OP§~013~28, Loss of DC Buses,
2950046010 3.2/3.4

295004G010 ++(KA'S)

ANSWER: 013 (1.00)
e
REFERENCE !
E.1. Hatch, LT<-IH-~04901-00, MSIV Leakage Contrecl System Section

Learning Objective EO 6
239003K406 (3.1/3.13)

239003K406 «+(KA'S)

ANSWER: 014 (1.00)
c.
REFERENCE:
E.1. Hateh, LT-1H-20103-02, CP3 31FO-FOP-017-28

Learning Objective £0 18,
295037K303 [4.1/4.5)

295037K303 «+(KA'S8)

ANSWER: 01% (1.00)
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REFERENCE : |
E.1. Hatch, LT-IH-20305-02, EOP Cautions 11I.D

Learning Objectivu EO 8 |
205028K203 [3.6/3.8) |

2950281293 «+(KA'S)

ANSWER: 016 (1.00)
b. ‘

REFERENCE!

E. I. Hatch, LT-IH-20115-00, 3J1EO~EOP~14~28, Radiocactivity Release

Contrai: Content and Use, LT~IH-20115-00, pg 6.

Learning Objective EO6,
295038K205 ([3.7/4.7)

295034K208 «+(KA'S)

ANSWER: 017 (1.00)
d.
REFERENCE: |
E.l1.Hatch Unit 2 Technical Specifications 3.3.1 & 3.3.2

Learning Objective LT-IH-10007-00, E.O. 13a.
272000G008 [2.9/3.9) ‘

272000G005 «+(KA's)

ANSWER: 018 (1.00)
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REFERENCE :
E.l1.Hatch LT=IH~ 01701-01, Main Turbine and Auxiliaries

Learning Objective E.O. 9
2450006007 [3../3.6)

245000G007 v (Kh's)

ANSWER: 01% (1.00)
a.
REFERENCE:
E.1.Hatch LT-IH-30004-02, p. 21,
Learning Objective 17.a
K/A 294001K102 ([3.9/4.2)

294001K102 ««(KA'S)

ANSWER: 020 (1.99)
b.
REFERENCE:
E.I.Hatch LT=IH~30009-01, p. 10,

Learning Objective E.O. 6.
K/A 294001K107 (3.3/3.6)

294001K107 «+(KA'S)

ANSWER: 021 (1.00)

a,
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REFERENCE !
'o Hatch LT«IH~02501~01

Learning Objective 200.087.A,01

295002K302 [3.4/3.4)

295002K%02 i« (KA'S)

ANSWER: 022 (1.00)
e.
REFERENCE:

E.I. Hatch BOAC-8EC~002-08
294001K108 (3.2/3.7)

294001K105 «+(KA'S)

ANSWER: 023 (1.00)
c.

REFERENCE:

E.1. Hatch EOP Flow Chart PC~1, Primary Containment Control
E.I1. Hatch Emergency Operating Procedure 31EO-EOP-101~2S, Emergency

Section A,1.1.1.5 pag S

Containment Venting, Section 3.2

E.I. Hatch LT~IH~01301
Learning Objective EO-9
295024K307 [3.5/4.0)

295024K307 ++(KA'S)
ANSWER:® 024 (1.00)
, a B

Y2/ TA

Page 64
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REFERENCE:
E.I. Hatech LT-IH-01401~01,
Learning Objective EO 5b
239001K407 [3.7/3.7)

239001K407 «+«(KA's)

ANSWER! 025 (1.00)
d.
REFERENCE!
E.1. Hatch LT~IH-05101~00,
Section 3.4.1

Learning Objective 4
295017K210 [3.3/3.6)

295017K210 .. (KA'S)

ANSWER: 026 (2.00)
C.
REFFRENCE:
E.I. Hatch LT-8T=03001-01,

Learning Objective EO~1.a
261000K401 (3.7/3.8]

261000K401 «+(KA’8)

ANSWER: 027 (1.00)
d.

Page 65

Main Steam Low Low Set, Section I11I1.D.2

Post LOCA Containment Radiation Monitors,

Standby Gas Treatment System, Table 03001-2
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REFERENCE:

E.I. Hatch LT~8T-00501-03, . igh Pressure Coolant Injection System

Learning Object EO l4.e
206000K417 [3.4/3.4)

206000K417 «+(KA'®)

ANSWER: 028 (1.00)

d.
REFERENCE:
E.I. Hatch LT~IH-00801~-01, Core Spray, Section III.A.?7
Learning Objective EO 3f and 3g
209001K401 [3.2/3.4)

209001K401 .« (KA'S)

ANSWER: 029 (1.00)
e.
REFERENCE:
gii.C“;tCh LT~IH=-01901-01, Electro~Hydraulic Control System, Section

Learning Opbjective EO 5§
245000K602 [3.5/3.7)

245000K€02 ++(KA's)

ANSWER: 030 (1.00)

*ANSWER
d.
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REFERENCE:

E.1. Hatch lesson Plan, LT-IH-00201-00, Ccndensate and Feedwater,

Section II.F.2
Learning Objective EO 11
259001A201 [3.7/3.7\

259001A201 ««(KA's)

ANSWER: 031 (1.00)

REFERENCE:

E.I. Hatch Unit 2 Technical Specification 3.6.2.1
Learning Objective LR-IH-~01301-00 EO

2230016011 (3.3/4.2)

2230016011 «+(KA’S)

ANSWER: 032 (1.00)
b.
REFERENCE:
E.I. Hatch LR~IH-04502~01
Learning Objective 200.076.A,03

234000KS503 [2.9/3.4)

234000K503 ««(KA’'s)

ANSWER: 033 (1.00)

C.

Page 67

300.006,A.22
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REFERENCE*

E.1. Hatch LR-IH-10008-00, Automatic Depressurization and Low Low Set
System

learning Objective EO 4

E.I. Hatch 3450-B21-001~-28, Automatic Depressurization and Low Low Set

Section 7.2.3
239002A309 [3.9/3.9)

239002A209 ++(KA'8)

ANSWER: 034 (1.00)
b.
REFERENCE:
E.I. Hatch EOP Flow Charts CP~1, CP~2 and RC

Learning Objective LR~IH-20303-01 EO 4
295031K201 [4.4/4.4)

295031K201 «+(KA'S)

ANSWEF 03% (1.00)
d.
REFERENCE:
E.I. Hatch LT-IH-02801-00, Diesel Generators, Section 1V.C.1

Learning Objective EO #2
264000K408 [3.8/3.7)

264000K408 «+(KA'8)

ANSWER: 036 (1.00)
d.
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REFERENCE:
E.1. Hatch LR~IH-03101-00, Off-Gas System Section VI.A.3
Learning Objective EO 9.c
271000A204 (3.7/4.1)

271000A204 ++(KA'S)

ANSWER: 037 (1.00)
b.
REFERENCE:
E.I. Hatch LT-IH-03001-00, ftandby Gas Treatment System, Section V.A

Learning Okjective EC 1.a
261000K401 (3.7/3.8)

261000K401 «+(KA'8B)

ANSWER: 038 (1.00)
b.
REFERENCE:
E.I.Hatch LT-ST-03801-04, p. 9,

lLearning Objective E.O. 3.h
218000A405 [4.2/4.2)

218000A405 ++(KA'S8)

ANSWER: 039 (1.00)
d.




REACTOR OPERATOR Page 70

REFERENCE:
E.1. Hatch LT-1H-00401 Section II.H.6.c

learning Objective EO 3
295005K203 (3.2/3.13)

295005K203 ++(KA's)

ANSWER: 040 (1.00)
I
REFERENCE:
E.1. Hatch Unit 2 EOP Flow Chart PC-1, Primary Containment Control
E.I. Hatch LR-IH-20310-01 Page 36

Learning Objective EO 18
295029K206 [3.4/3.5)

295029K206 «+(KA'S)

ANSWET . 041 (1.00)
b.
REFERENCE:
g.i. Hatch 34 AB-OPS-031-28, Irradiated Fuel Damage During Handling Section

Learning Objective LT-IH-01303~00 EO~-8
295023K303 [3.3/3.6)

295023K303 «+(KA’s)

ANSWER: 042 (1.00)
d.
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REFERENCE:

E.1. Hatch LT-IH~00701~02, Residual heat Removal System Section 111.D.2
Learning Objective EO 11

E.I. Hatch 34~AB~0OPS~044~-28, Loss of Shutdown Cooling Section 2
295021A102 (3.5/3.5)

295021A102 ++(KA'8)

ANSWER: 043 (1.00)

S
REFERENCE:

E.1. Hatch LT-1IH~04404~00, Reactor Vessel Instrumentation, Section I1I.B.d
Learning Objective EO 5

E.1. Hatch AB-OPS8~-044-28, Loss of Shutdown Cooling, Section 4.3 NOTE
205000K302 [3.2/3.3)

205000K302 «+(KA'S)

ANSWER: 044 (1.00)

REFERENCE:

E.I. Hatch LT-IH~00301~02, Reactor Water Cleanup System Table 2
learning Objective EO 5.a _
E.I. Hatch 34 AB-OPS5-050-28, RWCU Isclation Section 2.1

205000K401 (3.4/3.4)

205000K401 «+(KA's)
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ANSWER!: 045 (2.00)

a.
b.

c.

L

d.
REFERENCE:
E.1. Hatch LT=-IH~00701-02 Residual Heat Removal System Table 2
learning Objective EO~20, 21, 22, 23
203000K410 [3.9/4.1)

203000K410 «+(KA's)

ANSWER: 046 (1.00)
a.
REFERENCE:
E.I. Hatch LT~IH-00101-01, Control Rod Drive Hydraulics Section V.3

Learning Objective EC 18
201001K107 [3.4/3.5]

201001K107 .+« (KA's)

ANSWER: 047 (2.00)

b.
c.

g (4 required at 0.50 each)
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REFERENCE:

E.1. Hatch LT=1H-00101~01, Control Rod Drive Hydraulics Figure 00.01~-1
learning Objective 01 6
2010016007 [3.6/3.7)

201001G007 ++(KA’S)

ANSWER: 048 (1.00)
b.
REFERENCE:
E.1. Hatch LT-IH-05401~«00, Reactor Manual Control Table 05401~1

Learning Objective EO §
201002K402 [(3.5/3.8)
201002K402 «+(KA's)
ANSWER: 049 (1.00)
S,
REFERENCE:
E.I1. Hatch LT-IH~05402-03, Rod Sequence Contrnl System Section IV
Learning Objective EO &
201004K503 [3.2/3.5)
201004K503 ++«(KA's)

ANSWER: 050 (1.00)
b.
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REFERENCE:

E.1. Hateh LIT-IH~010001«00, Reactor Protective System Section VI.A.l.a
Learning Objective EO 10

212000K601 [3.6/3.8)

212000K6N1 «+(KA'S)

ANSWER! 051 (1.00)
d.
REFERENCE:
E.I. Hatch LT-IH-00202-00, Reactor Water Level Control Section VI.A.S
Learning Objective 19.e
259002K603 [3.1/3.1)
259002K601 ++(KA’S)

ANSWER: 052 (1.00)
b.
REFERENCE!
E.I. Hatch LT~IH-01201~01, Source Range Monitors Section V.D

Learning Objective EO 9
215004K401 (3.7/3.7)

215004K401 «+(KA'Ss)

~ ANSWER: 053 (1.00)
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REFERENCE :

Page 75

E.1. Hatch LT~IH-01202-00, Intermediate Range Monitors Section VII.A.1l

Learning Objective EO 6

215003A202 [3.5/3.7)
215003A202 ++(KA'S)

ANSWER!: 054 (1.00)
C.

REFERENCE:

E.1. Hatch LT-«IH~01203-01, APRM/RBM Table 3, Rod Blocks and Setpoints

Learning Objective EO 12

215002K401 [3.4/3.5)

215002K401 «+(KA'8)

ANSWER: 055 (2.00)

a, 6
b. 7
c., 9
d. 7
REFERENCE:

E.I. Hatch LT-IH-04404~00, Reactor Vessel Instrumentation Table 1

Learning Objective EO 1

216000K406 (3.8/4.0)

216000K4926 .« (KA’s)

(4 required at 0.50 each)
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ANSWER: 056 (1.00)
a.
REFERENCE:
E.I. Hatch LT-IH-03901-01, Reactor Core Isolation Cooling System,
Section III.A.5 and III.A.6

Learning Objective EO 16
217000A203 [3.4/3.3)

217000A203 ++(KA'8)

ANSWER: 057 (1.00)
b.
REFERENCE:
E.1. Hatch LT-IH~00401-01, Recirculation System Section II.H.5.d

Learning Objective EO 13
202002K108 (3.1/3.2)

202002K108 «+(KA’S)

ANSWER: 058 (1.00)
d.
REFERENCE:
E.I1. Hatch Technical Specification Basis 4.4.1.2

Learning Objective TO 200.084.a
2020026006 [2.6/3.7)

202002G006 «+«(KA’s)

ANSWER: 059 (1.00)
d.
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REFERENCE:
E.1. Hatch 3480-E51-001-28, Reactor Core Isolation Cooling (RCIC) System
Section 7.1.2.1.3 NOTE

lesson Plan LT-1IH-03901-01, Reactor Core Isolation Cooling System
Learning Objective EO 9

217000A301 (3.5/3.5)

217000A301 ««(KA's)

ANSWER: 060 (1.00)
d.
REFERENCE:
E.1. Hatch LT-IH~01302~00, Secondary Containment, Section V

Learning Objective 9
290001A301 (3.9/4.0)

290001A301 +«(KA'S)

ANSWER: 061 (1.00)
c.
REFERENCE:

E.I. Hatch LR~IH~20323-01, EOP 112 Primary Containment Fleoding
Section III.C.4

Learning Objective 5
295031A108 [3.8/3.9)

295031A108 .« (KA's)

ANSWER!: 062 (1.00)
dl
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REFERENCE:
E.1. Hatch LR-IH-20312~01, Zmergency Containment Venting, Sectiorn IV.B.2
Learning Objective 1

E.I. Hatch 31EO~EOP~101-28, Emergency Containment Venting Section 3.2.6.4
295010K301 (3.8/4.0)

295010K301 «+(KA's)

ANSWER! 063 (1.00}
d.
REFERENCE:
E.1. Hatch LR~INH 20301«01, Scram Procedure, Section IV.N.2

Learning Objective SK 2
295006G003 [3.8/4.4)

295006G003 ++(KA'S)

ANSWER: 064 (1.00)
d.
REFERENCE:
E.1., Hatch 34AB-OPS~015-28, Loss of Vital AC Bus Section 2
E.I. Hatch LT-IH-02703-00

Learning Opjective EO 8
295003A202 [4.2/4.3)

2950G03A202 «+(KA's)

ANSWER: 065 (1.00)
d.
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REFERENCE:

E.1. Hatch LR~IH~00401-01, Recirculation System
E.1. Hatch J4AB~OPS~056-28 Section 3.2

295001K102 [5.3/3.5)

295001K102 «+(KA'S)

ANSWER: 066 (1.00)
b.
REFERENCE:
E.I. Hatch LT-IH-20113-00

E.I. Hatoh 31EO-EOP~017~28
2950374104 [4.5/4.5)

295037A104 ««(KA'8)
ANSWER: 067 (1.00)

REFERENCE:

E.I. Hatch LT=1K=20201-00, Introduction to Abnormal Procedures

Learning Objective EO 10

E.1. Hatch 34AB-0OPS-020-25, Loss of Instrument and Service Air System

Section 3.5.1
295019K201 [3.8/3.9)

295019K201 «+(KA'S)

ANSWER: 068 (1.00)

C.
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REFERENCE
E.1. Hatch, LT=IH~00701+-02, Residual Heat Removal System Section II1.D.2
Learning Objective EO 11

J4AB~OPE~N44+28, Loes of Shutdown Cooling
295021K203 (3.6/3.6)

295021K203 v+ (KA's)

ANSWER: 069 (1.00)
b,
REFERENCE !
E.1.Hatch LR~IH-20325+~01, Secondary Containment/Radicactivity Release
Contrel pg 41

Learning Objective E O, 21.
295032K302 (3.6/3.8)

295032K302 «+(KA'S)

ANSWER: 070 (1.00)
d.
REFERENCE
E.l1.Hatch Unit 2 Technical Specifications, 2.1.4.
E.I.Hatch LT~IH-30002-02, Safety Limit Technical Spezifications 1I1.B.4

Learning Objective E.O. 1,
295009G003 [3.4/4.2)

295009G003 ++(KA'S)

ANSWER: 071 (1.00)
d.



REACTOR OPERATOR Page 81

REFERENCE:

E.l1.Hatch LR-IH=20310~01, Primary Containment Control (PC-1 and PC-2)
134

zzatning Objective E.O, 76.

E.l1.Hatch Technical Specification Bases 3.6.1.7
295028G004 [2.7/3.9)

2950286004 . (KA'R)

ANSWER: 072 (1.00)
c.
REFERENCE:
gétiﬂgtgh LT=1H=03901~01, Reactor Core lsolation Cooling System Section

Learning Objective E.O. 14,
295008K206 [3.4/3.6)

295008K20€ «+(KA'S)

ANSWER: 073 (1.00)
d.
REFERENCE:
E.1. Hatch LR-IH-20317-02, EOP 106: Restoration of RPV Water Level
Following RPV Flooding Section V.I.1

Learning Objective E.O. 6,
295008K210 [2.7/2.8)

295008K210 «+(KA'S)

ANGWER: 074 (1.00)
d.
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REFERENCE:

E.1. Match LT-1IH~30004-02, Administrative Procedures Section 1.F.7
Learning Objective EO 14
294001A103 [2.7/3.7)

294001A103 «+(KA's)

ANSWER* 078 (1.00)
Bo¥
o o a1/
RF™™%ENCE:
. .. Hatch LT-IH-30004, Adninistrative Procedures Section V.2

Learning Objective EO 22
294001Ki01 (3.7/3.7)

294001K101 «+(KA'S)

ANSWER: 079 (1.00)

Bl
8 08 A B

REFERENCE:
E.I. Hatch LT-IH-~30004-02, Administrative Procedureg, Section I.E.2

Learning Objective EO 6
294001A102 (4.2/4.2)

294001A102 «+(KA’B)

ANSWER: 080 (1.00)
b.
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REFERENCE:

E.I.Hatch LT-1IH-30004-~02, Section Z.3
Learning Cbjective EO 20.

294001K101 (3.7/3.7)

294001K101 .« (KA’'s)

ANSWER: 081 (1.00)

d.
REFERENCE:

E.I. Hatch Unit 2 Techrical Specification 3.5.4

E.1. Hatch LR-IH~20310-01, Primary Containment Contreol pg 21
Learning Objective EO 5

295030G003 [3.3/3.4)

295030G003 eo (Knw)

ANSGWER: 082 (1.00)
c'
REFERENCE:

LT-IH~01203, APRM/RBM, pg 11
Learning Objective EO 13

. 215005K607 [3.2/3.3)
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REFERENCE:

LT-1"'=00202, Reactor Water Level Control
Terminal Obj. 002.20

Enabling Obj. 19a

LT-IH-01401~01, Main Steam/LLS

Jbj. None

Note: Various BWRs have experienced a closure of ONE MSIV at power. Most
recently occurred at Quad Cities in late 1991.

239001A203 [4.0/4.2)

239001A203 «+(KA'S)

‘mugyzn: 084 (1.00)
\~ ‘.\~‘

L LAH
- iy 1Y a2 c 1) =
i o DEIETEL 2/27/94,

REFERENCE:

™
~

E.1 Hatch LT-IH-20308=02, EOP Curves and Limits, pg 27
Learning Objective EO 10~

295024K101 [4.1/4.2)

295024K101 .+«{KA's)

ANSWER: 085 (1,00)
d.
REFERENCE :

E.I. Hatch L5~IH-20301~01, Scram Procedure, pg 6
Learning Objective SK-6

2950066007 [3.8/4.1]

295006G007 .+ (KA’S)
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ANSWER: 086 (1.00)
b.
REFERENCE:

E.I. Hatch LT-IH-00101-01, pg 25
learning Objective EO 20

2010016009 [3.7/3.4)
2010016009 .. (KA’s)
ANSWER: 087 (1.00)

b.
REFERENCE:

Page 86

E.I.Hatch LT-IH-00401-01, Recirculation System

Learning Objective EO 19.

E.I.Hatch Unit 2 Technical Specification Bases 3.4.1.2

2020015006 (3.0/4.1)

202001G006 «+{KA’8)

ANSWER: 088 (1.00)
d.
REFERENCE:

E.1. Hatch LT-IH-03601-00, Plant Firs
Learning Objective EO 2

286000G00C4 [3.8/3.9)

2860006004 .. (KA’S)

Protection Systems, Section 5.B.2
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ANSWER: 089 (1.,00)
a.
REFERENCE:

E.I. Hatch LT-IH-01301, Primary Containment Section 4.D.4
Learning Objective EO 3.b

295024A116 [3.4/3.4)

295024A116 ++(KA's)

ANSWER: 090 (1.09)
b.

REFERENCE:
E.I. Hatch LT-IH-02702~1, 4160 VAC Electrical Distributien Section IV.i.2
Learning Objective EO 9

262001K403 [3.1/3.4)

262001K403 «+(KA's)

ANSWER: 091 (1.00)
d.
REFERENCE:

E.I. Hatch LT-IH-30004-02, Administrative Procedures, Section I.N.1
Learning Objective EO 13

294001A113 [4.5/4.2)

294001A113 .. (KA’'s)
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ANSWER: 092 (1.00)
d.
REFERENCE:
E.I1. Hatch LT-IH-00701-02, Residual Heat Removal System

Learning Objective ED 14
203000K401 [4.2/4.2)

203000K401 .+ (KA’s)

ANSWER: 093 (1.00)
b.
REFERENCE:
E.I. Hatch LT-IH-00301-02, Reactor Water Cleanup System Section III.N
Learning Obijective 41
204000K404 [(3.5/3.6)

204000K404 .+ (KA’S)

(kkxakrknkkx END OF EXAMINATION #*rkhnhransn)
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REGION _32_
CANDIDATE’S NAME: MASTER
FACILITY: E. I. Hatch 1 & 2
REACTOR TYPE: BWK-GE4

DATE ADMINISTERED: 92/02/24

INSTRUCTIONS TO CANDIDATE:

Use the answer sheets provided to document your answers. Staple this cover
sheet on top of the answer sheets. Points for each question are indicated in
parentheses after the question. The passing grade reqguires a final grade of
at least 80%. Examination papers will be picked up four (4) hours after the
examination starts.

CANDIDATE'’S
TEST VALUE SCORE %
Q1.5
166.00 B TOTALS

All work done on this examination is my own. I have neither given nor
received aid.

Candidate’s Signature
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ANSWER SHEET

Multiple Choice (Circle or X your choice)

If you change your answer, write your selection in the blank.

931 A B © @ _ €52  MATCHING

032 a » ¢ a ___ ¢ et

P33 & b e a4 . ___ ¥ s

034 a b ¢ 4 _ __ e

038 a b ¢ a4 ___ | Bt

036 a b c d a 053 MATCHING

037 a2 B» e A  __ a

038 a b ¢ a4 ___ R

03 a b ¢ d ___ e

o G R IO BRI S da ___

041 a b c d . MULTIPLE CHOICE

42 a b ¢ a4 __ 054 a b e a4

043 & B o 2 085 a &k ¢ d Sl

044 & b ¢ 4 ___ 08¢ 4 » ¢ & _

048 & » ¢© @ ___ 057 a » e a4 _

046 a b ¢ 4 S 058 a b ¢c a _

047 a b ¢ 4 _ 059 a b ¢ a4 ___

048 a b ¢ a4 060 a b ¢ 4 _

049 a b ¢ 4 ___ 061 a b e @«

050 a b ¢ 4 _ 062 a b ¢ 4 ___

051 & » ¢ @ _ 063 & B ¢ a ___
064 a b ¢ a4 ___
065 a b c d
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ANSWER SHEET

Multiple Choice (Circle or X your choice)

If you change your answer, write youir selection in the blank.

066 a b c d . MULTIPLE CHOICE

067 a b ¢ 4 ___ 084 a o ¢ a _

068 a. b e - Q . 085 a P ¢ a4 ___

069 a b ¢ a ___ cé6 a b ¢ 4 ___

B0 & B € 4 _ 087 a b e @ _

2L e 8 8 o8 a b e 4 .
072 a b e 4 ___ —089—a—Pb—0—a@———DEIFTED 2/2 ;/‘93‘
073 a b ¢ a4 ___ 090 a b ¢ a _

074 a b-.e. Q. 091 a ® & a _

07% a. . b e d __ 092 a b c d L

oo ANCE (ReE R RN SRR 03 a b ¢ 4 ___

077 @ b ¢ d

078 a b ¢ 4

079 S T SRR ESEE

080 a b ¢ a ___

081 a b c d o

o082 a P & -6

083 MATCHING

(xkxnnerrsk END OF EXAMINATION *kawsrhans)
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NRC RULES AND GUIDELINES FOR LICENSE EXAMINATIONS

During the administration of this examination the following rules apply:

1.

2.

10.

11.

12.

13.

Cheating on the examination means an automatic denial of your application
and could result in more severe penalties.

After the examination has been completed, you must sign the statement on
the cover sheet indicating that the work is your own and ycu have not
received or given assistance in completing the examination. This must be
done after you complete the examination.

Restroom trips are to be limited and only cne applicant at a time may
leave. You must avoid all contacts with anyone outside the examination
room to avoid even the appeararce or possibility of cheating.

Use black ink or dark pencil ONLY to facilitate legible reproductions.

Print your name in the blank provided in the upper right~hand corner of
the examination cover sheet and each answer sheet,

Mark your answers on the answer sheet provided. USE ONLY THE PAPER PROVIDED
AND DO NOT WRITE ON THE BACK SIDE OF THE PAGE.

Before you turn in your examination, consecutively number each answer sheet,
including any additional pages inserted when writing your answers on the
examination question nage.

Use abbreviations only if they are commonly used in facility literature.
Avoid using symbols such as < or > signs to avoid a simple transposition
error resulting in an incorrect answer. Write it out,

The poin* value for each question is indicated in parentheses after the
question.

Show all calculations, methods, or assumptions used to obtain an answer to
any short answer questions.

Partial credit may be given except on multiple choice questions. Therefore,
ANSWER ALL PARTS CO" THE QUESTION AND DO NOT LEAVE ANY ANSWER BLANK.

Proportional grading will be applied. Any additional wrong information
that is provided may count against you. For example, if a guestion is
worth one point and asks for four responses, each of which is worth 0.25
points, and you give five responses, each of your responses will be worth
0.20 points. If one of your five responses is incorrect, 0.20 will be
deducted and your total credit for that guestion will be 0.80 instead of
1.00 even though you got the four correct answers.

If the intent of a gquestion is unclear, ask questions of the examiner only.



14.

15.

16.

17.
18,

Page 6

wWhen turning in your examination, assemble the completed examination with
examination guestions, examinatjon aids and answer sheets. 1In addition,
turn in all scrap paper.

Ensure all information you wish tu have evaluated as part of your answer is
on your answer sheet. Scrap paper will be disposed of immediately following
the examination.

To pass the examination, you must achieve a grade of 80% or greater.

There is a time limit of four (4) hours for completion of the examinat_on.
When you are done and have turned in your examination, leave the examination

area (EXAMINER WILL DEFINE THE AREA). If you are found in this area while
the examination is still in progress, your license may be denied or revoked.
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QUESTION:

001 (1.00)

Which ONE of the following explains the control of systems from the
remote shutdown panel(s)?

a.

‘Qut;g'rxou :

The interlock preventing simultaneous opening of the RHR
suction valves for shutdown cooling, F006 and from the torus F004
are bypassed &t the Remote Shutdown Panel.

The low low set function is not operable when SRV control has been
transferred to the Remote Shutdown Panel.

Containment isolation functions are operable for all systems
operated.

The Unit 2 RCIC trip throttle valve is not operable when control
has been transferrad to the Remote Shutdown Panel.

) 54K
N IETE i/
002 (1.00) DE/ETED 2/27/94.

WhicﬁKONE\ot the feollowing defines the Heat Capacity Temperature Limit for
an RPV depressurization?

The hidﬁis(\Suppression Pool temperature which will net result in
exceeding the-Suppression Pool design temperature.
i

The highest Suppreﬁbian Pool temperature which will not result in
exceeding the Primary Ebn:ginment design temperature.
The highest Primary Containméﬂt\tgmperature which will not result
in exceeding the Suppression Pool asqign temperature.

The highest Primary Containment tempataﬁﬁ?u\yhich will not result
in exceeding the Primary Containment design teémgarature.

.
.
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QUESTION: 003 (1.,00)

The emergency depressurization procedure directs the operator to the

alternate depressurization procedure if suppression pool level is below
$7.5%,

Which ONE of the following is the reason for this action?
a. The bottom of the downcomers is at 57.5",
b. The safety relief va.ves discharge at 57.5".

€. At 57.5" suppression pool level has insufficient heat capacity
for depressurization.

d. At 57.5" suppression pool level is below the suppression pool
temperature detectors.

QUESTION: 004 (1.00)

For steam cooling the operator is directed to open __ (1) safety relief

valve(s) when reactor level decreases to (2) “inches.
a: 1, =162
b. 7, =162
Ce 3, =207
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QUESTION: 005 (1.00)
Hatch Unit 2 is operating at 95% power when a jet pump riser fails.

Which ONE of the following is the PRIMARY REASON that a plant shutdown is
required by Technical Specifications and procedures?

a. Invalid APRM Flow Biased SCRAM setpoints due to the change in
flow through a failed jet pump

b. Increased blowdown area during a Loss of Coolant Accident
(LOCA)

¢. Unbalanced neutron flux across the core due to flow variations

d. Physical core damage from a piece of a damaged jet pump

QUESTION: 006 (1.00)

Which ONE of the following trip channel conditions (A - B) from the Rea‘tor
Protection System shown in the diagram below will result in a HALF
SCRAM. (Assume a "one-out-of-two taken twice" logic.

TRIP SYSTEM TRIP SYSTEM
e 1
Al A2 Bl B2

TRIP CHANNELS TRIP CHANNELS

a. Al and A2 tripped
b. Al and B2 tripped
¢. Al and Bl tripped

d. A2 and Bl tripped
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QUESTION: 007 (1.00)

UNIT 2 has just experienced an initiation of the Automatic

Depressurization System (ADS). Plant conditions are as follows:
Drywell pressure: 3.2 psig
Reactor wates level: =147 inches
All RHR pumps: running
13 minute timer: timed out
120 second timer: timed out
7 ADS SRVs: open
Hain Steam pressure~ 150 psiq and lowering

- ~./;t‘

Which ONE of tho tollowing will cause the ADS SRVs to close?
a. Reactor water level increases to -20 inches.
b. Reactor pressure decreases to 25 psig.
¢. Resetting the High Drywell Pressurc Bypass Timer

d. Securing 4 RHR or both Core Spray pumps.

Page 10



SENIOR REACTOR OPERATOR Page 11

QUESTION: 008 (2.00)

For the each component in Column A, SELECT its functional description in

Column B.
(Items in Column B may be used once, more than once, or not at all. Only
one answer may occupy a space in Column A).

(4 answers required 0,50 each)

COLUMN A COLUMN B
(Component-) (Functional Doscrlptlon)
a., Orf Gas Preheater 1. Provides time for Xenon and Krypton

isotopes to decay.
b. Off Gas Stack Isolation

Valve 2. Is an electric boiler on Unit 2
c Off Gas Catalytic 3. Reduces the levels of Hydrogen and
Recombiner oxyaen in the off-gas flow

d. Loop Seal Drain Valve 4. Will shut on HI-HI~HI radiation
levels from the Post Treatment
Radiation Monitor

5. Will shut on High Hydrogen levels
in the off-gas flow

6. Uses 250 psig steam on Unit 2 to
heat the off-gas flow

7. Removes lodine isotopes from the
off-gas flow.
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QUESTION: 009 (2.00)

For the Reactor Pressure Vessel (RPV) Safety Limits and Design features
listed in Column A, SELECT the appropriate values from Column B. (M1l
pressures are steam dome pressures)
(Items in column B may be used once, more than once or not at all. Only
one answer may occupy a space in Column A).

(4 answers required at 0.50 each)

COLUMN A COLUMN B
(Safety Linits/Doliqn Features) (Values)
a. RPV heatup and cooldown 1. 1375 psig

limit (per hour)

2. 1325 psig

b. RPV high pressure scram
3., 1250 psig

c. RPV Design Operating Pressure 4. 1120 psig

d. RPV Pressure Safety Limit 5. 1100 psig
6. 1054 psig
7. 100 degrees F.
8. 90 degrees F.

9. 70 degrees F.
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QUESTION: 010 (1.00)

Which ONE of the following is acceptable, in accordance with
Control of Operator Aids (DI-OPS~05-1084N), for use as an Operator Aid.

b.

Posting of a pending change to an Emergency Operating
Procedure.

Instructions used to replace a CAUTION TAG on a piece of plant
equipnent.,

Instructions used to operate equipment while procedure review and
approval is in progress.

Posting of a4 temporary label on a control until a permancnt label
can be attached other than as described in / . . P

QUESTION: 011 (1.00)

Unit 2

is operating at 72% power and 58% flow, when the operator

observes a loss of feedwater heating.

Whi.a ONE of the following describes the operator action to be taken as a

result

of the loss of feedwater heating?

(Attachment from 3450-0PS~005~2S is provided).

b.

Reduce power to below the minimal lcad line by insertion of control
rods.

Reduce power by reducing recirculation flow to 45% and inserting
control rods as necessary to get below the 80% load line.

Reduce power to 20% without reducing core flow below 45% by
reducing recirculation flow or driving control rods,

Reduce power b 14.4% by reducing recirculation flow, without
reducing core ° w below 45%
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QUESTION: 012 (1.00)

Which ONE of the following describes the automatic functiens or procedural
regquirements for an unrecoverable loss of RBCCW due to a leak in the system
while operating in mode 17

Entry into the abnormal procedure IS NOT required because the
actions are covered in the EOPs.

The reactor should be scrammed within 2-3 minutes because the RBCCW
cannot be restored.

Entry into EOP flow charts IS reguired to implement the recovery of
the Loss of RBCCW.

If a scram is required then the Abnormal Procedure for Loss of
RBCCW should be exited and the EOP flowcharts entered.



294001A103 .+ (KA'Ss)

ANSWER: 011
d.
REFERENCE:
E.I. Hatch,

(1.00)

J4AB~OPS~045-28,

Loss of Feedwater Heating,

Learning Objective LT=-IH~-20201-02 Objective 2

295014A102

295014A10

ANSWER: 0i2
b

(3.6/3.8)

2 .+ (KA'Ss)

(1.00)

Section 3.3
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QUESTION: 013 (2.00)

Page 15

For each power source in Column A, SELECT the immediate action listed in
Column B that is required to be taken if that power source is lost,.
(Items in Column B may be used once, more than once, or not at all. Only
one answer may occupy a space in Column A).
(4 answers required at 0.%0 each)

Column I
(Power Source Loss)

T~

a. 125/250 V DC Switchgear 2A
2R22-85016

b. 125/250 V D Switchgear 2B
2R22-8017

—ee—126-V-PO-Beeential-— DE/ETED

T Cabinet 2A B 32792,

d. 24/48V DC Cabinet 2B,
2R25-5016

Column II
(Immediate Action)

-~

Transfer 4160 V buses 2A
and 2B to Startup Supply.

Manually trip Reactor
Recirc Pump B.

Secure radwaste discharge.
Manually open Main
Generator output

breakers.

Enter Loss of Instrument Bus
AB-OPS,

Swap CRD Flow Control Valves

None
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QUESTION: 014 (1.00)

Under which ONE of the following sets of conditions may the OUTBOARD Main
Steam Isolation Valve Leakage Control System (MSIV-LCS) be manually
initiated?

a. Reactor pressure is less than 35 psig, all of the MSIVs are
closed and Main Steam Line pressure between the Outboard MSIVs
and the Main Turbine Stop Valves is less than 35 psig.

b. Reactor pressure has been less than 35 peig for a minimum of 10
nminutes, all of the MSIVs are closed ar ' “fain Steam Line
pressure between the Inboard MSIVs and . .e Outboard MSIVs is
less than 35 psig.

c. At least 10 minutes have elapsed since the Loss of Coolant
Azcident (LOCA), the Outbocard MSIVs are closed and pressure
between the Outboard MSIVs and the Main Turbine Stop Valves
and Bypass Valves is less than 35 psig.

d. At least 10 minutes have elapsed since the Lcss of Coolant
Acvcident (LOCA), all of the MSIVs are closed and pressure
between the Inbocard MSIVs and Outboard MSIVs has bled down
to 0 psig.

QUESTION: 015 (1.00)

Which ONE of the following is the most significant contributor
to reducing power when water level is lowered during a failure to
scram event.

a. Reduces evaporative cooling thus causing fuel temperature to
increase.

b. Lowering level reduces the pressure in the core by reducing the
head of water above the core.

¢. Lowering level reduces the differential pressure between the annulus
and the core thus increasing the void fraction.

d. Lowering level reduces power by increasing the subcor ling of the
water entering the core.
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QUESTION: 016 (1.00)

Caution 2 of the EOPs states that 2B21-LI-R604A/B and 2B21~LR~R623A/B
CANNOT he used to determine RPV water level during rapid RPV
depressurization below 500 psiqg.

Which ONE of the following is the reason for this caution?

b.

At low reactor pressures the reference leg would flash due to the
rapid pressure reduction.

Variable leg density will decrease due to the rapid pressure
reduction
causing invalid readings.

At low indicated levels reference leg density causes on scale
indications with level t:2low the instruments monitoring range,

At low drywell temperatures the reference leg will cause
erronecusly high indicated levels.

QUESTION: 017 (1.00)

Under which ONE of the following conditions would the Emergency Operating
Procedure require Emergency Depressurization of the reacter?

a. Any release in excess of 1000 mr/hr in the Primary Containment
and the Primary Containment cannot be isolated.

b. Offsite release rate is 1200 mr/hr and a main steam line break in
the Turbine Building cannot be isolated.

c. Any offsite release in excess of 1000 mr/hr and an unisolatable
RBCCW is discharging outside the primary and secondary containment.

d. Any release in excess of 1000 mr/hr from the CRD system and all the
130 foot elevation radiation levels are approximately 125 mr/hr.
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F {FERENCE:

E.1. Hatch, LT=-IH-20103~«02, CP3 31FO-FOP~-017-28
Learning Objective EO 18,
295037K303 [4.1/4.5)

295037K303 «+(KA's)

ANSWER! 016 (1.00)

REFERENCE:

E.I. Hatch, LT-IH-20305-02, EOP Cautions Ill.u
Learning Objective EN 3
15028K203 [3.6/3.8)

295028K203 «+(KA'S)

ANSWER: 017 (1.00)
b.
REFERENCE:

E. I. Hatch, LT-IH-20115-00, 31EO-EOP-14-2S5, Radioactivity Release
Control: Content and Use, LT~IH-20115-00, pg 6.

Learning Objective E06.

295038K20% [3.7/4.7)

295038K205 ««(KA's)

ANSWER: 018 (1.00)

a.
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QUESTION: 022 (1.00)

WHICH ONE (1) of the following is the MINIMUM Technical Specificatiol
required shift composition while both units are in a Hot Shutdown
Condition?

a. Senior Operating Licenses
Operating Licenses
Nen~Licensad
Shift Technical Advisor

PLuwNe

b. Senior Operating Licenses
Operating Licenses
Non-Licensed
Shift Technical Advisor

e

- Senior Operating Licenses
Operating Licenses
Non-Licensed
Shift Technical Advisor

Lt L P

d. Senior Operating Licenses
Operating Licenses
Non-Licensed
Shift Technical Advisor

- e

QUESTION: 023 (1.00)

A P-1 printout is run on the process computer yielding the following data
on the most limiting node in the core:

CMAPR: 0.96
CMFLPD: 0.92
CMFCP: 1.01
Which ONE of the following LIMITS is being exceeded?
a. Fuel Cladding Integrity Safety Limit
b. Linear Heat Generation Rate
c. Average Planar Linear Heat Generation Rate

d. Minimum Critical Power Ratic
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QUESTION: 026 (1.00)

Unit 2 has experienced a loss of Main Condenser vacuum resulting in MSIV
closure and a reactor scram. The foll wing plant conditious exist:

=All control rods are fully inserted
~All MSIVs are closed
“HPCI syste~ i, 1.operable

“RPV water level <10 inches and slowly increasing
‘Reactor pressure 905 psig

~RCIC diagonal area tempera.ure 195 deg F

~RCIC diagonal area radiation level 5% arem/hr

“RCIC system is still operating
Which ONE of the following actions should be taken by the ‘rew?
a., Operate RCIC are: coolers until area temperature or radjation
levels exceed Max Safe Operating vrlue, then isolate RCIC and use
Core Spray to restore RPV wuter level.

b. Continue to ope' L: +.IC system to restore RPV water level until
RPV water level .. yreater than +32 inches.

¢, Isolate RCIC system immediately and use CRD system to restore RPV
water level.

d. Operate RCIC until area temperiture exceeds Max Safe Operating
value then Emergency Depressurize the plant.

QUESTION: 027 (1.00)

A contractor has the need to have access to no -vi;tijnroaq outside the
Operating Building and Outside Structure, (s /m/e« Las

Which ONE of the following is the procedure to be used to allow him access?

a. He may be issued a key from the OR0S key cabinet if he has
completed the General Employec Training.

b. He may be issued a key by the Department Manager for whom he works
if accompanied by a GPC employee.

€. He may be issued a key from the 0S0S key cabinet if he has written
permission from the Operations Superintendent.

d. He as a contract employee may not be issued a key to any area of
the plant,
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QUESTION: 028 (1.00)

Hatch Unit 2 has experienced a significant loss cof coolant accident.

Plant conditions are as follows:

- RPV Pressure 150 psig (Emergency Depressurization in progress)
- Suppression Chamber pressure 37 psig increasing
- Suppression Pool water level 312 inches

Which ONE of the following actions is required by the EOPs to control

Suppressicn Chamber pressure?

a. Vent the Suppress on Chamber per J1EO~EOP~101-28 irrespective of

offsite release rate,

b. Initiate Suppression Pool Sprays per 3480-E11-010-28 irrespective

of adec¢.ate core cooling.

¢. Vent the Drywell per 3J1EO~EOP~101-28 irr spective of offsite

release rate.

d. "nitiate Drywell Sprays per 34S50-E11-28 irrespective of adequate

core cuoling.

QUESTION: 029 ‘1,00)

During normal Urit 2 power operations, Drywell pneumatics (N2 makeup via

Drywell pneumatics) is lost,

Which ONE of the following describes the effect this loss has on the Unit 2

MSIVs. (Assume no operator action)
a. As nitrogen bleeds off, the inboard Ms3IVs will shut.

b. As air leaks off the outboard MSIVs will shut.

€. As nitrogen bleeds off the inboard MSIVs, the first MSIV reaching

90% open initiates a Group 1 isolation..

d. No action will occur since Instrument air will automatically backup

the Drywell pneumatics.
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QUESTION: 030 (1.00)

Which ONE of the following will cause an isolation of the Drywell Hydrogen
and Oxygen monitor sample lines?

a. High radiation on the Crywell and Torus Gamma Radiation Monitors
(138 Rem/hr)

b. High Drywell Hydrogen concentration (10%)
¢. High Drywell temperature (280 degqg F)
d. High Drywell pressure (1.02 psig)

QUESTION: 03! (2.00)

Which ONE of the following statements is correct concerning the Unit 1 SBGT
system?

a. The SBGT AOVs fail as is on a loss of Station Service Air.

b. The SBGT system fans load shed on a LOSP, but may be vestored after
depressing the Non-essential Load Lock-out pushbutton.

¢. The SBGT suctions from the Drywell and Torus are both connected to
the SBGT system through the excess flow isolation damper.

d., [f drywell pressure exceeds 1.92 psig, the Unit 1 SBGT fans will
auto-start and align for suction from the Drywell.
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QUESTION: w32 (1.00)

HPCI is tngoctinq to the vessel with its suction from the CST. A high Torus
water level occurs.

Which ONE of the fellowing describes the actions which should occur tn the
HPCI system (Assume no operator action has been taken)

a. HPCI suction will remain from the CST until a high CST level
occurs. Then the CST suction valve (2E41-F004) will auto shut.
When the CS7 suction valve is fully closed, the Torus suction
valves (2E41-F041 and FO042) will open.

b. The CST suction valve (2E41-F004) will autoc shut. When the CST
guction is fuliy closed the Torus suction valves (2E41-F041 and
F042) will auto open.

¢, The Torus suction valves (2E41-F041 and F042) should be manually
opened. When the Torus suction valves are 90% of full open, the
CS8T suction valve (2E41-F204) should be manually shut.

d. The Torus suction valves (2E41-F041 and F042) will auto oper.. When
the Torus suction valves are 90% of full open, the CST suction
valve 2E41-F004) will automatically shut.

QUESTION: 033 (1.00)

Unit 2 is operating at rated conditions with Core Spray loop “A" in its
normal standby lineup with the following exception: 2E21-F004A (outboard
discharge valve) is closed. A spurious Core Spray initiation signal is
received.

Which ONE of the following describes the response of the Core Spray Valves?

a. Both 2E21-F004A and 2E21-FO0S5A will auto open,.

b. 2E21~FO004A will immediately auto open and 2E21-FO0S5A will auto open
if reactor pressure decreases to belew 500 psig.

c. 2E21-FOO4A will immediately auto o» *n and 2E21-FOOAA will auto open
if reactor pressure decreases to bu.ow 500 psig.

d. Neither anzl-roqu or 2E21~FO0SA will auto open under these
conditions.
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QUESTION: 034 (1.00)

Which ONE of the fol'owing describes the response of the Main Turbine EHC
contro. system when the pressure input to pressure regulator fails while
operating at near rated conditions?

a. If the "A" pressure regulator input fails HIGH, the "“B" pressure
regulator takes control and closes the Turbine Control Valves
slightly to maintain pressure

b. If the "A" pressure regulator input fails LOW, a full open signal
is sent to the Turbine Control valves.

¢. If the "B" regulator input fails HIGH, a full open signal is sent
to the Turbine Control and Bypass valves and the MSIVs close on low
pressure.

d, If the "B" regulator input fails LOW, a full closed signal is sent
to the Turbine Control Valves.

QUESTION: 035 (1.00)

Which NE of the following is the Primary Contalnment condition which would
require the initiation of a Unit 2 LCO?

a. Mode Switch in SHUTDOWN, reactor coolant temperature 350 deg F, and
Torus level is 145 inches.

b. Mode Switch in STARTUP, reactor coolant temperature 180 deg F, and
Drywell pressure is .7 psig.

€. Mode Switch is ir RUN and Drywell average air temperature is
130 deyg F.

d. Mode Switch in RUN<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>